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FILE

Ma

DATE

2/21/92

TIME

11:07:59 a

PACE &

Tt et

A i T AR

]
CFLAGS = -0

LR Spééch;Recognizer

LIBS = -1lm -ltermcap

INCLUDES = config.h cell.h HMM.h LR.h imha b idur.h log.h fuzzy.h

TARGET = Hmalr

OBJECTS =
time.o io_mhmm,0 idur.o logtbl.o calidm.o adapt.o\
bezm.o verify.o fileio.o calcprob.o ngram.o hash.o\
LRctrl.o RoadlR2.0 int_op.o StochasticGrammar.o dtoi.o

SWITCHES = ~0 $(TARGET) $(LIBS)

$(TARGET): $(OBJECTS)
cc $(CFLAGS) $(OBJECTS) $(SWITCHES)

$(OBJECTS): $(INCLUDES)

¥

main.o hmmlr.o ReadRules.o ReadlR.o LR.o cell.o init_adapt.o error.o\

»-A




HEADER FILE

DATE

2/21/92;

TIME

P v, i

10:52:26 am |

HEADER TEXT

iToshiyuki Hanazawa and Kenji Kita.

iinclude "imhmm.h*
{include "idur.h”
{include “fuzzy.h”

£

typedef struct Entry
{

i~e=s/

JN NNB[J&;!G:.

wg\wﬂwsl

X

i B ket b

I

char *phona;
IMEMM *model;
IDUR *duration{MAX_N
int num_dur;
struct Entry *next;
} Entry,
18 53

tifodef HMM_MAIN
extern

tendif

int N_fIrames,

$1fndef EMM_MAIN

extern

lendift

FDATA Faata[MAX_CODEBOOK] ;

V] 1itndar EMM_MAIN

extern
lendit
int leng[MAX_CODEBOOK), Mabiki;

t1fndof HMM_MAIN

extern

fendif

double Sigma_model, Sigma_state, Nsd, Dur_weight;

tifadef HMM_MAIN

extern

fenaift

double Frame Poriod, Add_Time, End_Free:

#ifndef HMM_MAIN
extern

fendit

int Mabiki,




PACE®

HEADER FILE DATE 2/21/792
TIME  10:52:32 am
HEADER TEXT
3
[
N
=5/ ‘
o1
: LAY
44 ine ISREDUCE(m) (n d» 2¢MAXSTATES ? 1 : 9)
4 $detine ISSHIFT(n) (n >= 0 &6 n ¢ MAXSTATES ? 1 : 0)
{detine IsGOTO(n) (n >= MAXSTATES $& n < 2°MAXSTATES ? 1 : 0)
4 #define ISACCEPT(n) (B == ACCEPT ? 1 : 0)
49 e ety .
9 TEM DM EDITE RN
efine REDUCE(n) ({n)—2*MAXSTATES)
4
S L g M A LR
define SHIFT(n) (n)
e
___gg: 1detine GOTO(n) ( (n)-MAXSTATES )

ERMTERADME

681 (
697 152 STOCHASTIC_GRAMMAR

67 i typedef struct Rule

double gprob;

fendit

int length;

74 int *rhs;

int lhs;

8| 112 THO_LEVEL

90| 1endis
9l )ou Action;

typedef struct Action
t
int fnput;
int action;
struct Action  “next,
11f STOCHASTIC_LR
| double prob;
faendif

fnt *cat;

tifndef LR_MAIN

00_{ extern
10! | tenatt

2 | char *SymbolTable [MAXSYMBOLS ) ;




HEADER FILE DATE 2/21/92, | Paces
Ce".h . TIME 10:52:38 am
e ERS R e e T L e L A YR ALATEE LA
HEADER TEXT
iy
4
4
4 100
4
4
4
7 .
47 | taetine WORD_DELIMITER (-1)
2 .
4 % :
j}detfine stacktop{cp) cp-)>stack[cp-)stackptr-1]
1 .
LRI % . [T
5 {define push(n, cp) cp~)>stack(({cp->stackptr)++] = n
59 o eemie e st '
._g?_ ; FIDIRRB S G2 G Wi T3 B
62_| tdetine pop(cp) cp~>stack [--(cp->stackptr)])
6 4 et
—82 HORWES
:gr tdofine npop(n, cp) cp->stack((cp~>stackptr == n))
- ™ :
A PIOYLRIR B
clrstack(cp) cp=>stackptr = 0
S TR R R ARBNAA S 2 TR
H
771 tdefine instacktop(cp) cp->instack{cp->instackptr-1] :
78 | tdefine inpush(n, cp) cp-dinstack{(cp->instackptr)++) = n M
79 ] idetine inpop(cp) cp-d>instack{-~(cp->instackptr)) : IR
80| tdetine clrinstack(cp) cp->instackptr = 0
WTEO2E. XERBRWA2 L7 20 T3 01, ' S '
tdetine gpush{n, cp) cp->gstack[{cp->gstackptr)++] = n
tdcfine clrgstack{cp) cp->gstackptr = 0
—5 U.TV)”ﬁL. T teigram 122w 210304k,
.9 ldetine wpush{n, cp) - cp-dmstack[(cp->mstackptr)++] = n
_3§_ tdefine clrmstack(cp) cp->mstackptr = 0
940 /-
o R
: idelina cellcopy(p, () beopy((char *)p, (char *)q, sizeof(Cell))
B .
xRk -{x , .
A .238: TRBEMTINBERELTHLHOREBHERTH D
: typcdet struct Cell
{
/0
'/LRVHE!B.Z? 2 72BE2S 7 -F4rP.
int stack [LR_STACKSIZE]
char stackper;
ra
. :L'.ﬁ nr:F@MMNEHALS 7,
)ut instack [IN_STACKSIZIE] .,
char instackper;
1 1it cTRACE
C XEREENRLY 2.
o




HEADER FILE

2/21/92

10:52: 38 am

PACE #

cellh

HEADER TEXT

fendif

tendif

jendif

t1f 1_MODEL

int gstack [G_STACKSIZE],

char gstackptr;

#4f SYLLADLE_NGRAM

double moraprob;

tif BEST_FIRST

fendif

I

) | extern

fendif
int

$ifndef
extern
fendit
Cell

start;
int end,
int bestprob;
int bestpointy
int Prob{MAXFRAME+1} ;

} 4 flag;
int start,
int end
int “bostprob:
int _bestpoint,
int _Prob[MAXFRAME+1) ;

CELL_MAIN

globalbean,
localboaxm,
totalcells,

CELL_MAIN

*cellstart,
*cellend,
*celltop,
*newcelltop,
*freecellp,

tacceptedcellp, /

*localcellp;

7
7
7
7
7
7
7

AEENATILEDDERRE

mstack {IN_STACKSIZE); /*:Mora :indexi/
int mstackptr,
char symbol(6},

?f %hf&m

&
HEDERIZMNE

D ERH GORKF BRI,

=971=98

R4




HEADER FILE

config.h

DATE

| Pace s

TIME

10:52:44 am

B e es sia bR AL el ETUER

- merede el s S

HEADER TEXT

fdefine TRELLIS 1
- fdefine VITERBI 1 {TRELLIS)

N

)

l“J‘\
9

| o]
(=

pat)

Eokd 5 UL IS AR

ine STOCHASTIC_GRAMMAR 1

e

AAA..».;....I
0N LO™

)

1

I

s

)

idefine THO_LEVEL 0

HNEEE T ERNITE LA 8B

el

N e )

ol

#if SYLLABLE_NGRAM | STOCHASTIC_GRAMMAR | STOCIHASTIC_LR
4 dofine L_MODEL 1

tolse

§ define L_MODEL 0

fendit




HEADER FILE

fuzzy.h

DATE

2/21/92

TIME

10:52:49 am

PACE »

HEADER TEXT

tdefino

MAX_FU22Y 6

struct fuziy_data

int num_fuzzy, length;
float tuzziness;
unsigned char *codo;
float m;

b

typedef struct fuz:xy data FDATA:

X




HEADER FILE

hash.h

DATE

2/21/92

TIME

10:52:549 am

PACE #

R -

HEADER TEXT

=Ry

. B trigra

(4D

;_ tdafine MHASH(S,size) {{"s)tsize})
9

— 20|

21| AT

_%% ‘typedef struct _entry
{

25| char *key;
26 int Qdata:
4 struct _entry “next;
) entry,

WERLRAK

/.
typedef struct _hashtable
{

aentry *sentrytable;

6| int size;
YA R} hashtable;
8]
39 | hashtable *init_hash{);

wﬁ'i&i%g EHEFG(R BB CRRAFEES HHL AT W




HEADER FILE
hmmir.h

2/21/92

PACE »

10:53:01 am

HEADER TEXT

i

N OV, AW N

o,

Qut) ! |
e} 0°|u|

I

00
1

ARRUAER

ATR :Interpreting i Telephony iResedrchLaboratories:

d:roshiyuxiiflanazaway

{include "HMM.h"
tinclude "LR.h*

'3
)
%_ jinclude “cell.h"
o

J..,LMU I
D0~ O A B
(ol

T
)

Ol
!

TN}

O 00N VW
thind ol

1ifaet EMMLR_MAIN
int initialized = 0,

int initialized,
tendif

tifndef HMMLR_MAIN
extern

fendif

int dynamicthreshold,
Nbest,

Verbose,

Trace,
Trace2,

1

'V BN - O

0.~ OV

O \D’

1 111def HMMLR_MAIN

int_threshold,
int_winimalthreshold,
total_verity,
NormProb(MAXFRAME] ;

fifndef HMMLR_MAIN

extern

tendif

double threshold,
threshold_Q,
originalthreshold,
minimalthreshold,
log_henkan,
log_henkanl0,

double W_syllable = 0.0,
telse

double W_syllable;
tendif

tifndef HMMLR_MAIN
extern
tendif

Rumlist(80)

*GrammarTable(MANGRAMMARS ],
*Gtable[MAXGRAMMARS);

| tifndef HMMLR_MAIN

extern

fendiC

Action *ActionTable(MAXSTATES),
*Atable[MAXSTATES) ;

BHEAGHDEX

WT L

20
tifndef HMMLR_MAIN

extern
tendit

2] int Tophist,
| tifndef HMMLR_MAIN

extern

| tendif
| char Histlist(80),

.| 1ifndef HMMLR_MAIN

extern
fendif
FILE *labelfp.

so
S '/IQ!.I’(V)E'E.'

dohhle log(). rint();

17 long cputime(), realtime(),

K@




HEADER FILE

DATE

2/21/792

TIME

10:53:07 am

PACE #

T hrens L e

HEADER TEXT

idofine FLAT (-1)

struct iduration
t

int states;
int lenmin,
lenmax,
lenpnin2,
lenmax2,
*lenprob;
double 1lenav,
lensa;
int durmin(MAX_STATES],
durmax[MAX_STATES],
. *durprob{MAX_STATES) ;

typedef struct iduration

IDUR;

0




HEADER FILE
imhmm.h

DATE

2/21/92

TiIME

10:53:

12 am

PACE #

e L

St o ST,

HEADER TEXT

4_| tdefine
S_| tdetine

6| tdetine

7.1 1detine
8 | 1detina
1detine
1detine
tdefine

{detfine

|
ﬂ\.l’l&

1_| tinclude <stdio.h>
finclude <math.h>

TRUE 1

FALSE 0

MIN_INT (~111111111)
MAX_ALPHABET 256
MAX_STATES 15

MAX_ARCS 45
NULL_TRANSITION (-1)

NO_ROOP (-2)
MAX_CODEBOOK 3

struct transition
{

destination,
origin,
out_prob_index;
trans_prob;

struct state
{

int label,
num_£rom,
num_to,
is_initial,
is_tinal,
trans_frowm(MAX_STATES},
trans_to(MAX_STATES),
rarcy
be
5
35
.| struct imhmn
{

4 int num_states,

4] num_omatrix,

42 | num_arcs,

43 aum_initial,

44 num_final,

45 num_book,

46 ] Dum_vector [MAX_CODEBOOK) ;

47 float *output_prob [MAX_CODEBOOX) ;

48 | int *frame_prob[MAX_ARCS),

49 struct state *states;

0: struct transitfon ‘ctransitions;
—Si 11,
53| typedef struct imhmm IMHMM;
54 | typedef struct training_set TSET;

11




AR

HEADER FILE

2/21/92

10:53:18 am

PACE #

—d

HEADER TEXT

taefine logx{ a, b )

| struct log_table

double b,
int size,
*table;
| X

typedof struct log_table

tifndef LOG_MAIN
oxtern

{endif

IGTBL Lgtbl;

{ log(b) / log(a) )

LGTBL,;




HEADER FILE DATE 2/21/792 PACE 7
ngram'h 10:53:23 am 1
LINE # ’ HEAbER TEXT
1} /e u- .
1
chLlaboratories.
-/

fdefine HASH(n,size) (n % size)

typedef struct _glist

{
unsigned int

float proby

struct _glist

) glist;

RN

typedef struct _gtable
{

glist s tabla;

int tablesize,
4 int ngram;
int nsymbols;
———a o] char **symbol;
} gtable;

13




SOURCE PROCRAM DATE 2721792 | pace =
main.c TME  11:43:34 am

Rt e At o el tets L, N R

SOURCE TEXT

2:.7.8702.4
~>r7'/a AR MM BROXA Y- E.

— 5

"““‘g “4»0&@:”1/7!”)
_:__,]“l' p:/1192/LR/HMM= LR/ NRLE . VI3
o TRAWERT UGN

(ATR :Interpreting. Telephony:Research Laboratories)

— (Renyi’Rita)
- (Toshlyuki HNanazawa)

3
ELN
32 ]
33 ]
34
35 |
36
37 (kita)
3 lutn 4 ‘hanazawa)
3 .hnpnznwa] : e

hanazawa)
hanazawa)
ch..1xkita]

usnnsn‘sspj

00\ OYWUN B

:

Vixdta)

0 7AV)§
5_ .éo):nt' %f‘# (it‘m:,l
e e L e i i AR S s et /.
4
55|
6
A
[}

*Version = "v7*,

char

—7%
-3 A

; =3
i_| char *Copyright = "Copyright(C) 19822,1929,1990,1991,1992 K.Kita ¢ T.Hanazawa";

/l
L EOTas kN A T A SATHS,
Jdefine HMMLR_MAIN

finclude <stdio.h>
tinclude <math.h>
iinclude “contig.h”
{include “hmmlr.h*
4 linclude "log.h”

char labelfile(80], /P NQA= R Y F w70 71740/
progname[80], /Y BMM=LRIEIF 7 7 A V3 7
dumpfile(80), VR T RS s
dumpdate(80), /° N LV
GrammarName(80]. /1 XEB
GrammarNawe2(80) ; /¢ 2BEmM-BRTRIWS XaRIXEO &M o

= dumptile.‘. dwugdate n{({lm

207 TLDTEARAI L sy~ REBERT S,
AT 2 ZOEREDVTIL . madn) MR FD
X7 s Rt DEHMEZRMN L.

Usage()

t

tprintf({stderr, "Usage: ts VQ-labelfile (with following options)vn”,
progname),
fprintf(stderr, " -G grammar(intez-phrase)\n").




SOURCE PROCRAM
main.c

DATE

2/21/92

TIME

11.43 34 am

PACE #

o oo

SOURCE TEXT

W'N

0
)

! wr '
s

S

|
T

(0

alatals

o b Jua g

slalainls

fprintf(stderr, -g grammar\n");

fprintf(stderr, -B global-beam\n");

fprint{(stderr, -b local-beam\n"});

fprintf(stderr, —-c total-cells\n");

tfprintf(stderr, =X Threshold\n"),;

fprintf(stderr, -x Minimal=threshold\n"}),
tprintf(stderr, -Q Threshold_O\n");

fprintf(stderr, -¢ (Disable dynmni.c threshold setting)\n");
fprintf(stderr, =n N-best\n");

tprintf({stderr, -m hmn-1ist\n"});

tprintf{(stderr, ~L log-table\n");

fprintf(stderr, =S n*signa (model-duration-window)\n*);

283332822 T EELTEITITTEEERR LSS

fprintf(stderr, -5 n*sigma (state-duration-window)\n“);
tprintf(stderr, =N ne*state~standard-deviation\n").
fprintf(stderr, —-H duration-weight\n"),

fprintf(stderr, -w syllable-weight\n"): '
fprintf(stderr, =V (Verbose)\n");

fprintf{{stderr, =T (Trace)\n");

fprintf(stderr, -t (Trace bun)\n")/;

fprintf({stderr, -F (First-trellis)\n");

fprintf(stderr, -P frame-period (msec)\n"),
fprintf(stderr, =A add-time (msec MAE & USHIRO)\n"),
fprintf(stderr, -E end-free (msoc)\n"):;

fprintf(stderr, =M mabixi(l=3msec, J=9msec)\n");
fprintf(stderr, ~H adaptation histgram\n®);
fprintf(stderr, ~o dump-file\n®):

fprintf(stderr, -1 (Use stochastic lmodel)\n"):

exit(l);

g; enMsg( )

fﬁ: printf(*® { HMM-LR Continuous Specch Recognizer. s J\n", Version);
137 ] printf(" << s »>O\n*, Copyright);
~ 1S9 | 14f THO_LEVEL
__ 160 | printf(*\n ***v* TRO-LEVEL *****\n%);

__161_| tenaif

62 | #4f BEST_FIRST
T 163| printf{*\n =*+++ BEST-FIRST SEARCH *****\n");

—164] tenait

5]

1661 printf("\n #11 \s (\s) ##i\n", progoame, Version);

67 if(initialized) printf(" Crcated on \s\n", dumpdate);
168 | {f(TRELLIS) printf(“\n Trellis algorithm && “);
_169] else printf(“\n Viterbi algorithm &&¢ "),

70 {f(DURATION_CONTROL) printf(“Duration control.\m\n");
____;,_ else printf(“No duration.\n\n"};

7 printf(* Grammar-> is\n*, GrammarName);

74 ] if(*GrammarName2) printf(“ Grammar(bun)~> ts\n\n®, GramwarName2),

75| printf(* Total cells = %d.\n", totalcells);

(76| printf(" Thresholdd = \f.\n", threshold_0):

__177 printf(~ Thresholdl = tf.\n“, originalthreshold);
| 78 | printf({" Threshold2 = \f.\n“, minimalthreshold);
179 printf(* Global beam = \d.\n“, globalbeam);

printf(“ Local beam = %d.\n", localbeam):

printf(" First = \d\n\p", First);

printf(* Input-> \s\n*, labelfile);

printf(" Frame period = \3.1f msec\n", Frame_Period);
printf(~ Add time = t4.1f msec\p", Add_Time),
printf(™ End_Frec = t4.1f msec\n“", End_Free);
printf("™ Mabiki = \a\n\n*, Mabiki).

fflush{stdout);

g

/
‘tdefine THRESIOLD_Q

g /ISR DEATT AT HUNDH &L
tdotine Checkoption(opt)

‘BN |E T AT o) ithrestiold ((F 7 1L M)

if(arge - 1 ¢= 0 || ev(argv+l) == *=*)\
fatal_error("! Missing value after ts option\n",opt)

30.0

FRIAARA N thréshold (T2 x VP E) .2

ﬁ‘-ﬁ.ﬂ3ﬂ6

: '/ !
tdefine MINIMAL_THRESHOLD 15.0
wmain{argec, argv)
int arge;
char sargv(};
(
double atof();
_ Entry  ep, 7 FWETHAZHWL TWE EntryTable
SEORLNE N S CNIRA i)
) *lookup(}; /0 FH&H 65 EntryTable ADKRAL V9
LT 2L HODAN. 2/
double durninQ, /"ﬁﬁ‘lzfﬂﬂﬂ']‘f o/
durmaxQ; /o BIEBNRRE 2/

/l
'}iﬁ?‘a'?’?l&)%ﬁi&fd’( progname {Z{CA .

stracpy(progname, argv(0}, sizeof(progname)).

e 7O LNBIRMBF B TINE . AT 2 Y O-RET MR

if(arge < 2} Usage():

/.
:/Z'FIE/\'? X —=F DML,

<labelfile = NULL,
*dumpfile = NULL,




SOURCE PROCRAM
main.c

DATE

TIME

SOURCE TEXT

W

Ot

ial
)

3
}

£
D

BASARNETE

b o D o et Bk

PO et

w,

T

i

L

il

A U W W W W,

L
25

|

(V)
bt

L
g

PLLILT]

W 0 L LA

whd
8

*GrammarName = NULL.
*GrammarName2 = NULL;

*Hmmlist = NULL;
*Logtable = NULL;
*Histlist = NULL;

dynanicthreshold = 1,
Nbest = 5;

Verbose = 0;

Trace = 0;

Trace2 = 0;

First = 0;

Lmodel = 0;

totalcells = TOTALCELLS,
globalbeam = GLOBAL_BEAM;
localbeam = LOCAL_BEAM,

throshold_0 = THRESHOLD_Q;
oxigtnalthreshold = ORIGINAL_THRESHOLD;
minimalthreshold = MINIMAL_THRESHOLD;

Frame_Pericd = FRANME_PERIOD,

Add_Time = ADD_TIME;
End_Free = END_FREE;

Mabiki = 1,

P!
Tophist = 20,

while(--arge > 0)
(
if(**++argv == '=*)
{
switch((*argv)(l])
{ .

case ‘g's 7 &3 7
CheckOption(*g™),
strncpy (GrammarName, *(argv+l), sizeof(GrammarName));
--arge;
++argv;
break;
case 'G': ‘B H.‘:-m’ﬁ*oxmnx&a w7
Checkoption(*G");

st:ncpy(cramuarnamaz » *(argv+l), sizeof(GrammarName2)}),

--argc;
++argv;
break; ame

case 'B': / Dt
CheckOption(*B*);
globalbeam = atoi(*(argv+l)).
--arge;
++argv;
break; T 1

DRI D BFI R/
ion("b%};

localbeam = atoi(*(argv+l));
--axge;
++argv;
break; e s o s

case *e': JUBIRT BEINIL S/
CheekOption(~c*).;
totalcells = atoi(*(argv+l)).
--arge;
++argv;
break;

case 'X': Zs'threshold s/
Checkoption(*X*).;
originalthreshold = atof(*(argv+l));
--arxgce;
++argv;
break; .

case 'x': /v threshold NHTMH o/
Checkoption("x"),
minimalthroshold = atof(*(argv+l));
--arge;
++argv;
break;

case 'Q': /* BANMEIIHT S threshold +/
CheckOption(“0*).
theeshold_Q = atof{*{argv+l)):
--arge;
+eargv;
break;

case *d': /+ threshold B THRET >N 7?2 v/
dynamicthreshold = 0;
break.
case *n': /* RHEMNIIAMBDOEMZEHTIHN? </
ClheckOption(”n®);
Nhest = ntol('urgvdl),
--argc;
+-azrgv;
hbreak;
case ‘m': /* HWMEFR %-rl!.'o.t L‘d & ¥ 0% I5) 4%
N GRA= G ERET AT TAN Z i
CheckOption(“m™),
strepy(Hmmlist, -(argv+l));
--argc;
+-argv;
break,

16

11:43:34 am




SOURCE PROCRAM
main.c

DATE

2/21/92

TIME

1 1'43'34 am

SOURCE TEXT

RRRRARRARN

]
alal
<O,

Y a?
—ioo

x

et
O o o e

wa‘
/)

"
)

.0, N,
NS

AI J;l-l -..| .J .;l nl J J J sl.. Y ..IJ

l ‘J
W AN NN,

o
Pt}

Ll

case 'L': /+%log . compression table 7.7 4K -/
CheckOpt ion(“L*);
strcpy(Logtable, *(argv+l));
~--argc;
+4argv;
break,;
case ‘S‘; iR
CheckOPtion( =s")s
Sigma_model = atof(*(argv+l)),
—=argc;
++argv;
break;
case 's': TR
Checkoption(“s");
Sigma_state = atof(°*(argv+l));
—-argc;
++argv;
break;
case ‘N': €
CheckOpt n( N*
Nsd = atof(*(argv+l)};
--argc;
++argv;
break;
casc 'W': : aﬁnﬁmﬂk”'rbm
Chec)mpt. n
Dur_weight = uto!t'(ugvu) )y
—--arge:
++axrgv;
break;
case ‘w':
Checkoptio;
W syllable = atof(*(argv+l));
-=axrgc;
+targv;
break;
case ‘'V': 7/
Verbose
break;
case 'T':
Trace =
break;
case ‘t°: 1
Tracez = 1;
break;
vpe p

First = 1;
break;
case 'P': /
CheckOption(*P*);
Frame_Period = atof(*(argv+l)),
--argc;
++axgv;
break; § . .
case 'E': /. B hum X ) Rl
CheckOption(“E"),
End_Free = atof(*(argv+l)):
~-=-argc;
++argv;
break;

CheckOption(“A®)
Add_Time = atof(e({argv+l)),
~-arge;
++argv;
break;

case ‘M': Sy L S ¢ [
Checkoption("~™)
Mabiki = atoi(<*(argv+l));
—-axge;
++argv;
break; o
case ‘i': HHRGRE
Checkoption("H");
stropy(Histlist, ¢(argv+l)).
—-arge;
++axgv;
break;
case '0': /IRIiAuRplile BRI L./
CheckOption{~o”),;
4. strocpy(dumpfile, *(argv+l), sizeof(dumpfile)).;
45 --arge;
446 | ++argv;
__447 | break; . . ) .
448 | case *1': /v-RUBEBEETFNERANI, 2.7/
|__449 | lzodel = 1;
450 | break;
— &S0 default: /* FZira: fiENRAY /7
__As2 fatal_error(™! Unknown option : tc\a", (*argv}(1]);
4 -
45,
458
1 else if({*+argv a= '@’
462 | extern double K1, W2,
.. 463 _ switeh({*argv) 1]}
264 t
465 case 'G': U REXECHTEIEA
466 CheckOption(“@G*);
467 | Wl = atof(*{argv+l)).
%68 -~arge;
469 ++argv;
___+70_| break; .
A7 case *S': /"B trigram IRTIMHA </
472 CheckOption(*Es™~);
873 W2 = atof(*(argv+l)),
__474_] --argc;
__475.‘ ++argv;
__876 ] break; .
477 default: / A 7L 2 LIFGRNETV </
_{;g_ fatal_error(™! Unknown option @: \evu™, (*argv){l});
~ B9 H
480 }




SOURCE PROCRAM
main.c

2/21/92

11:43:34 am

PACE &

SOURCE TEXT

else /2:VQiG NIl D p AN
sucpy(labelule. *argv);

1!('labe].!11e ®= NULL)
fatal _crror(*Missing label file\n");

globalboam > totalcells/3)
fatal_error("Too large beam.\n"};

|
NN
A

- .lookup('QZ'),

durninQ = (double)(ep->duratioa[0]->lernin) * Frame_Period;
durmaxQ = (double)(ep->duration[0])->lenmax) < rrm Period,
printf(" DurationQ: 14.1f — %4.1f msec\n\n", durminQ, durmaxQ);
fflush(stdout).;

log_henkan = log(Lgtbl.b),
log_henkanl0 = loglO{Lgtbl.b);

{(labelfp = fopen(labelfile, “r")) == NULL)
fatal_ecrror(“"Can't open Vs\n", labelfile);

£(*GramnarName2)
LRctrl_main(labelfp);
olse

—S37 while(1)
38 | t
[— 539 int st;
v .
4
2
4
44 st = Read_Fuzzy(labelfp)) == EOF)
4 break;
4 clse if(st == FALSE)
4 continue,
4
— 839 ]
0
|

|

fclose(labelfp);

M= LRAD ) L 247 7%°5
nit()

long csec, rsec, cputime(), realtime();

94 T OB MM BT SME IS RS,

/
if(tinttialized)
{

inle_HMM() .
s
*od L-dumptile #7853 S TyvviLis
CCNBECHRIFAXR—VEH/EET,

°/
Lf{*dumpfile)
t

save_image();
exit(l),




SOURCE PROCRAM
main.c

2/21/792 | pact#

11:43:34 am

LT

SOURCE TEXT

7] #1f TwO_LEVEL

I BAXES LU LR HIRE XA U

ResdLR2{1, GrammarNamo, GrammarTable, ActionTable);

lelse

CHEL LTV LIMARERADB O

tenaif

LR{1l, GrammarNama, GrammarTable, ActionTable);
AR RN A

ENEEOH A B TUTAVALL
BRI L R A

1f(*GrammarName2)
RoadlR(1l, GrammarName2, Gtable, Atable);

VIR ERY:
init_cell();

ec = cputime(),
rsec = xealtime(),

fprintf(stderr,
“Initializing complete!! CPU-time=ild msec., Elapsed-timesild sec.\n",
csec, xsec);

return{TRUE),;




SOURCE PROCRAM DATE 2/21/92 PACE #
hmmll‘.C TIME 1:42:51 am ]

SOURCE TEXT

finclude {stdio.h>
1include <(math.h>
tinclude “config.h*
finclude “hmmlr.h*
1include "log.h”

) | tdetine MAX(x,Y) () € (Y1) 2 (y) : (%))

idctine MORA_LEN 100.0

register int
register char ‘P,
register Cell *cp,

|—9&_ int m,
63 | count,
6 state,
:;6’ nou:cate.
66 _| action, M
67| ofts,
5&_ sty
69 | char phone(16],
0 phone2([16];
7 Action vap;
72 | Cell *getcopyl(),
7 *getcopy2();
74 int int_tx,
____;»
77
78
79
8

int Depth,
Max_Depth;

float Data_Time,

buf([BUFSIZ]);

| char
» | #4f BEST_FIRST

int acc, count = 0,

fonait

ta_Time = (float)N_frames * (uont)rnmo_Pertod;
Max_Dopth = (int)(Data_Time / MORA_LEN ¢ 2,0) + 2;
Max_Depth (25, Max_Depth),

S

throshold = threshola_ Q.
int_threshold = (int)(threshold / log_henkan);
int_minimalthreshold = (int)(minimalthreshold / log_henkan);

’

T usFARASFAERBER ST AT T IEROPMIL.
total verify (i BIE verity DfFTA /2 Y XY FENH.,

e
total_verify = 0,




SOURCE PROCRAM
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DATE

2/21/92

TIME

11:42:51 am

PACE #

SOURCE TEXT

-| 11¢ BEST_FIRST

Talalalaialalainlal

tenaif

e
Ol

|

tenaif

NUNNEARNRR

1if BEST_FIRST

| lenait

(HBTEDBNDRBEDORE
ify_start(celltop, -(int_thresbold));

realtime();

celltop->shifted = 1,

% R A R PR kg

f(++Depth >= Max_Depth)

break;

¢p = celltop;
celltop = celltop->next;

STH SR ODRBDIRIE

NSRS D

f({icp->shifted)
cp->next = pewcelltop,

newcelltop = cp;
continue;

£ BE ] istate IS H G
ﬁnm&w%u&nafﬁi o2

ox(ap = ActionTable{state]); ap != NULL; ap = ap->next)

/°
- LRA TR D BRI ALY T /NBL

action = ap->action;

;e

. ml'ﬁﬁmmuﬂ)&t state (=@ T EN(ELL l‘ 'F
{Z:. other_action ¥ \V:H X * O LIS o

it(IsAccnPT(action) II IsSHIFT(action))
other_action++;

g ﬂxiblﬁ rHIE ERERT.
- elso 1 f(ISREDUCE{action))
t

/e
'/ﬂl‘imﬁmt WEIE=LT CMLOWERE LT K,
newcp = qotcopyl{cp).,

* instack: a)ﬁ_l;af, CEEEE L) 9 - (WORD_DELIMITER)

s TrnnbIE L THERY) ) 2 AN,

o«

if(instacktop(newcp) != WORD_DELIMITER)
inpush(RORD_DELIMITER, nhewcp),




SOURCE PROCRAM DATE 2/21/92 PACE &
hmmlr. TIME  11:42:51 am

D

e e ST TR L e T3 DR

SOURCE TEXT

soinstack AN =200 U760 LEIDUnwr s
BRETLENSD,

if(newcp->instackptr >= IN_STACKSI2E)
{

printf{~Input stack ave:uov\n ).
goto END_HMMLR;

SRS E TSI EXERMOEDORE L
ﬂ{fﬂj\yg;-g X

GrammarTable|REDUCE(action))-2length,

RB TR

state = GotoState(ActionTable, stacktop(newcp),
GramwarTable(REDUCE{action)]->1hs),

274} 11 GTRACE

tonait
1} ¢4 TWO_LEVEL

299 | tendif
300_!
—301]
302 t ¢
3031 4
304 ewcp-rnext = celltop,
305 celltop = newcp;
306 | | RN .)U"J— P
307 1 S ¥ Yy e KO
308 if(other_ action)
13_ t
310 3571-06\'\“&3!5“
3_4 ‘Jdinewcelltop il D
7
— 314} cp->next = newcelltop;
g 'g: newcelltop = cp;
16 1 )
317 clse

-.::l“hﬁﬁﬂﬂ“ ‘stata {C ﬁfﬁf’)fﬁl‘lﬂ- &Y {E LIRSS
£ SERLOTEBE N YR K :reecenp

cp->next = freecellp;
freecellp = cp;

‘celltop Ly netiel1top A ALY A5

e
celltop = newcelltop:
newcolltop = NULL;

 ERBELFESC L) BRRRAKAMLIBZNT,
RATEARS ]

' beam_scarch(scelltop, globalbeam, °‘R'):

3411 141 BEST_FIRST

42

383 © ¢ Best-flrst (NRNI/ES . RROHBKM L )L top_cell

344 . s 'C":ﬂ)?tl“' top_prob T MN &,

345 . Coe MG 2 D FH T P celltop 4)9'&“Hmt1v BRzLTHBE.
-;:g : : CUTD tor =TT, RRODLDETADIT w3,
o348 'to;)_ccn = celltop;

1349 | top_prob = celltop->bestprob.

;;?, for(cpp = celltop; ; cpp * cpp-)next)

§ {

3521 P

L3531 . * REHEDL—T ZBRIZRT Lf_ﬂJ\‘
1T B sniftea £y R LT

%

cpp->shifted = 0;

7357 pRzshitte

‘;gg-‘ 7 LA BRoH
...359! * £l top_cell L) wEibcpp R oM a7 DT.

360 . - top_cell, top prob ¥ BT,

22



SOURCE PROCRAM
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DATE

2/21/92

TIME

11:42:51 am

SOURCE TEXT

I

ROAD:
w

D
™

W'
,&

WA\ W! A
regrargrrs
(X

m
nw,p"

%\l

knlklA'h X

0.0
'

AN

tenait

I.JJ
(P43

») ,,|
2=
"fbl\ﬂ B

O

<}
i
|

jad
OO0,

(PRI TS TN PR IS N

Nalal

Inininlain

! is a kIh'h alala ..'.JAL.'JJAIA J.JJA

MO BIEDE N THRU

cpp->next = celltop:
celltop = top_cell:
while(l)

if({cpp->next == top_cell)
{

cpp-onext = NULL;
break;

1
cpp = cpp->next;

offs = 0;
localcellp = NULL;

¥A
tor(ap = ActionTable[state): ap != NULL; ap = ap->next)
{ .

£

/
if(newecp->_1lag)
{

newcp->start = cp->_start;
newep=>end = cp->_end;
newcp-Jbestprob = cp->_bestprob;
newcp->hestpoint = cp->_bestpoint;
tor{i = 0; | <= N_trames; L++)
newep-dprob(i] = cp->_prob(i);

/'
"/JJJ'-‘EF‘#)&I&VMQ‘&"E‘EE('%T L

veri ty_end{newcp, -(int_threshold)}.,

« newcp-rend fr}\hﬁ‘ﬂ’-}@l__ Tuwivis.
~" SERE SR b

u( newcp->end == N_frames)

s
D RMERLRRE sccoptedeellp £D7% <,

newep->next = acceptedcellp:
acceptedcellp = newcp:

LINE #
_..361 | L. R
362 ] if(cpp->bestprob ¢ top_prob}
— 363 {
364 top_cell = cpp;
top_prob = cpp->bestprob;

23



SOURCE PROCRAM
hmmlr.c

DATE

2/21/92

TIME

PACE #

11:42:51 am

SOURCE TEXT

| 11¢ L_MODEL

4!
—_498 | tenait
&

1if BEST_FIRST

4

1

6| tanait
7

g |

(k)

NN N N

fendif

|

I

A -ANANA]
G hivLw
RS ATA)
{1 o e B

0

ooV Or. 0

NRARRRRANARN

gt Do W

).7)‘3‘1“0&&1)‘ lend_tree W L= ALTET
21 4 IR X2 i»sﬁ'bnnma-vr-r,;

/
best((newcp->end)-cnd_free, newcp-dend,
newcp->prob, inewcp->bestprob, inewcp->bestpoint);
newcp->bestprob = -(newcp->bestprob);

BROSYE TS TEROREE,

/
1f{Lmodel)
{

newcp=>hmmproh = newcp->bestprob;
newprob(newep, 1)

BENRERLESHD

newcp->shifted = 0;
++acc_f{lag,;

newcp->next = freecellp;
freeccllp = newcp:

if(tpredicted(ap->cat))
continue;

FENHER AL E2E LTE
nevwcp = getcopy2(cp);

select_model(nowcp, SynbolTable[ap->input],
phone, &flg_vow);

eck’end TIXDZDOTHENHERESIHE

ewcp-) flag;
strepy( pho ne2, phone};
strcat(phone2, "3");

/

st = verify(phonec2, flg_vow, -(int_threshold),
Lnowcp->_start, tnewcp->_end,
tnewcp->_bestprob. tnewcp->_bestpoint,
newcp->_prob);

i

B tﬂ‘o;:ﬁﬂ s

st = verify(phone, flg_vow, ~{int_threshold),
tnewcp->start, &nowcp-dend,
tnowcp->baestprob, tnewcp-dhestpoint,
newep-3prob);

/e
"(_.!5@ FRLIRD) ‘Eiﬂ BERLI

END_VERIFY: /¢ SN —=Ua Y IAHRMM 7
SWMUSL 2 H5E instack (27 v al .
& N A

@l TsHL,

inpush{ap-rinput, newcep),

7
s instack HAN=20 LS. L i wnins
. 9’”"‘"1}:”0 .

1t(ne\cp—>msuck—-tz te IN_STACKSIZE)

{

printf{"Iuput stack overflownn“),
goto END_HMMLE,

2«
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hmmlr. TIME  11:42:51 am

R O e D T

SOURCE TEXT

e HOTHRRUL R MRS LA U S E R

tif L_MODEL
R THRDERE

if(Lmodel)
newprob{newcp, 0);

fendit

cp->next = localcellp;
localcellp » newcp;

41f BEST_FIRST

newcp->next = freecellp;
freecellp = newcp;

|
|
Ot e)

OV
sl
o)

-

3
o)

3 ‘m!mlm?m GJOI

o
L AN
O ~

'
wNI—J' !

réd
(S
[}

v
by

(:o!ts > localbeam)
beam_search(ilocalcellp, localboam, 'L');

REDERDIE LT Y

{(cpP = localcellp; cpp->next != NULL; ¢pp = cpp-’>next)
! ++count;
669 ++count;

4
675 ->next = newvcelltop;
__676_ newcelltop = localcellp:
677 localcellp = NULL;

684" cp->next = freecellp,
685 freecellp = cp;
686 | #1f BEST_FIRST

ost-urst BEREFTLSTVWIR . BRORWEMBFZ T
TENDT L N=T LB

. /.

. | break;
692 | 1enait
._693 }
—694
..695 | tir m:s-r_rmsr
7696
.597 | %, Best-first rf,..am', LIRTOEREL E
698 ] celltop (2% <,
699 /
_____ 700 t{nowcelltop)
701
';gg" for(cpp = bpewcelltop: cpp->next != NULL; cpp ® cpp->next)
704 cpp-’necxt = celltop;
705 celltop = newcelltop.
206, 1
707 pewcelltop = NULL:
7708
709 ’°
-;:? . m{:-”)ﬁ WoERzavr b T46.

712 | count -0,
7213 for(cpp = celltop: cpp '= NULL: cpp = cpp-’next)
ALE ++count;
25
716 v
-7l RS IRBE WAL R LR
L2190 u(count s= Q)

720} break,;
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DATE

2/21/92

TIME  11:42:51 am

PACE &

hmmlr.c

T L

SOURCE TEXT

SR

~

- O

N
c\'ndkn ~N
i1

—747]

—_784_| tenait
35 ]

821 ]
8227 1121

| tendit

ERENDARFBATRRBIAREREH N UTHRIE TR,

op_prob ITHALS

top_prob = celltop->bestprob;
for(cpp = celltop; cpp 1= NULL; cpp = cpp-)next)

if(cpp->bestprob < top_prob)
top_prob = cpp->bestprob;

(cpp = accoptedcellp; cpp != NULL; cpp = cpp->next)
if(tcpp->shifted t& cpp->bestprob <= top_prob)
{

++cpp-)shifted;

cellstring(l, 1, cpp, buf);

printf{“ACCEPT: *);

priatf("1-25s", buf),

printf(“ (prob = 18.51f)", (double)(cpp~>bestprob)*log_henkan);
printf{"\n"):

if(acc_count >= Nbest)
goto END_HMMLR,

celltop = newcelltop,;
newcelltop = NULL, ‘

(count == Q)
break;

BROGOL
hreshold == threshold_0Q)

threshold = originalthreshold;
int_threshold = (int)(threshold / log_henkan);

D

N

BREBO QA Globatbaa ik L S IFRILL

WDt 1%

if(count > globalbezm)
{

beam_search(tcolltop, globalbeam, ‘G'),

YA S & T RS,
BRET o .
%S BRE, H2NE®RLL .,

if{dynamicthreshold)

{
for(cpp = celltop; cpp->next != NULL; cpp = cpp->next)
i.nt__;.x = {cpp->bestprob + int_thresthold) / 2;

if({int_tx >= int_minimalthreshold)
int_threshold = int_tx;
else
int_threshold = int_minimalthreshold;
threshold = (doudble)int_threshold * log_henkan;

Iad

A AT A [2F B3 P
,,::.,-/i.'!ﬁ'(ﬁ RAOLBRETERT S,
if(Verbose)

(

sortecll{scelltop):
for(i = 0, cp = celltop: cp, Cp = cp-dnext, i++)
{
tf(t > 10) break;
cellstring(l, 0, cp, buf),
print{("(td] @ %5 prob=\1lf threil( state=td (id,td)\a",
Depth, i+1, buf, (doublejcp-d>bestprob * log_benkan, threshold,
stacktop{cp), cp-’start, cp-dend),

1
I 3T R et T P NI




SOURCE PROGRAM DATE 2/21/92 PACE #

hmmir.c TIME  11:42:51 am

E O R R
SOURCE TEXT

|_8437] END_HMMLR:
844
_gj,? #4f 1TRO_LEVEL

> R HN = 5 2R ERS MRS

rm_dupl{iacceptedcellp),

{ntgtnnn---c-n---.-----u.--.-.---------'--.'---a-.----.--'--n see\n"),

€1 printf("Parsing time: CPU-time = tld mscc, Elapsed-time = 11d sec.\n",
| 857 ] cputime(), realtime());
T 858 printf(“Total-verify = \d, Depth = \d\n*, total_verify, Depth)s
859 | showAcceptedParse(iacceptedcellp, Nbest):
860 | Pzint‘(n.'."l‘-ni-t-tltt-.-----u--.-n-n..--n-.-n-..'--n-tﬂ.o.-.----...\n\n‘l)',
— 861 £flush(stdout). .

RS IERE
67 lect_model(cp, input
868 | cell *cp; ’
[ 869.] char *ioput;
870°| char *phona;
int *flg_vow,

m _.EEZ: streq({phone, "g") &6 cp->instackptr !« 0)
gg} strcpy(phone, “"ng*);
:g_'g}" if(instacktop(cp) 1= WORD_DELIMITER)
S50 | {
_g:g%_ select_bgn_end(:p, phone) ;
> +flg_vow = check_vow(cp)
—889 ) > ’
890 else
._gg;‘: *flg_vow = 0;
3921 )
893 ]
_39§ AT IR BB B

scl:ect_bgn_end(cp, phone)
._.898 | cel) *cp;
899°| char =phone;
{ ..

if(streq(phone, "ch™) &t cp->instackptr == 0)
strepy(phone, “chl®}),

else if(streg(phone, "ts") &¢ cp~>instackptr == 0)
strepy(phone, “tsl*);

else if(streq(phone, "p") && cp->instackptr == 0)
strcpy(phone, "pl™);:

else if{atreq(phone, “t") && cp-dinstackptr == 0)
strepy(phone, “tl");

else if(streq(phone, "k*) it cp->instackptr == 0)
strepy(phone, “"X1");

else if{streq(phone, “b*) &¢ cp-dinstackptr == 0)
strcpy{phone, *bl™);

else if(streq(phonc, “d") &k cp-d>instackptr == 0}
strcpy(phone, ~dl“);

else if(streq{phona, "r") kb cp-dinstackptr == 0)

strcpy(phone, “rl®);

$Eeh o) gy T LT I2 ingy BVVGR FLERWSIE
‘else if(streq(phone, “9y™))

if(cp->instackptr == 0)
strcpy(phone, "gy*):
else
strepy(phone, “ngy*).;

if(cp->instackptr == 0) flg = 0,

else if(streq(SymbolTable|instacktop(cp)}. ~a*)) flg = 0.

34 else if(streq(SycbolTable{instacktop(cp)}, "i")) (flg = 0.
__949 | else if(streq(SymbolTable]instacktop(cp)], "u“)) flg = 0,
950 else if(streq{SymbolTablelinstacktop(cp)]. "e*)) flg = O:
951 else if(streq(SymbolTable{instacktop(cp)], "o")) flg = 0.
952 else Lf(streq(SymbolTablefinstacktop(cp)], *N*)) flg = 0,
953" else Lf(streq(SymbolTablelinstacktop(cp)l, "Ui")) flg = O;
954 else if(streq(SymbolTable{instacktop(cp)], “Uu")) flg = 0;
955 ] else if(streq(SymbolTablelinstacktop(cp)l, “aa")} flg = O,
— 956 else if(streg(SymbolTablelinstacktop(cp)l, "ii*)) flg = 0
__9,>_7_ else if(streq(SymbolTable|instacktop(cp)l, "uu")) flg = 0O,
—_958 | else if(streq(SymholTable[instacktop(cp)), "ee")) flg = 0O,
959 | else if(streq(SymholTable|instacktop(cp)], “oo")) flg = O,
960 else if(streq(SymbolTable[instacktop(cp)], "ei")) flq = O,

™
~J



SOURCE PROCRAM DATE 2/21/92 PACE »
hmmll‘.C TIME 1 ].42.5] am

T

ot T e et L TR A

else if(streq(SymbolTable[instacktop(cp)], "ou*)) flg = 0;
else if(streq(SymbolTable(instacktop(cp)], "s")) (flg = O;
else if(streq(SywmbolTable{instacktop(cp}), "sh”)) flg = 0,
else if{streq(SymbolTable|instacktop(cp}), “h")) flg = O;
else if(streq(SymbolTable(instacktop(cp}), "ch")) flg = 0;
alse if(streq(SymbolTable(instacktop(cp)), "ts*)) flg = 0;
else if(streq(SymbolTable(instacktop(cp}), "p*)) flg = 0;
else if(streq(SymbolTable(instacktop(cp)), "k*)) (flg = O;

return{flg};

oret ey -7

)77_| eheck_end(phone, state)

978_| char «phone; p
—9797] int state;
980 (
981 int neustate, ok = 0;
982" register Action *ap;
983

t:

3 : 2
| 988 if(streq(phone, “a%) streqg{phone, "i") streq(phone, "VUi*)
989 | streq(phone, “u®) streq(phone, “Uu®) streq(phone, “e")
streq(phone, "o") streq({phone, *N") streq(phone, "aa")
streq(phone, “"ii") streg(phone, "uu*) streq{phone, “eec“)
streq({phone, “o00") streg(phone, *ci®) streg(phone, “ou"))

1004
1005 ]
—'f-'g"?" (ap = ActionTable[state); ap != NULL; ap = ap->next)
400/ {
08 _} 1£(I SREDUCE({ap->action)
1009 | L1 streq(SymbolTable(ap~>input), ENDSYMBOL))
?_ retura(l);
ML }
ol return(0);
10137 )
<
1016
1017
1018
1019 /. ’ )
1020 | cellsuing(delmit, acc, cp, buf)
[ 1021 | int delfimit;
_1022 | int acc;
1023 ] Cedd *cp:
_1024 | char *buf;
10257}
1026 | register int i;
10277
1028 buf{0] = 0x00;
1029 ] if(cp->instackptr == 0)
1030 strcat(buf, "[Empty}"):
1031 clse
1032 | t
___gg}_ for(i = 0; i ¢ cp-dinstackptr; i++)
1034 {
1035 if(acc & i + 1 == cp->instackptr)
— 1036 | break;
__gg%_ if(cp->instack[i]) == WORD_BELIMITER)
1038 {
1039 if(delimit)
_1040 | strcat(buf, “-*);
1041 }
. 1042 | clsae
.. (
if(streq(SynbolTable(cp->instack[i]}, "Ui"})
strcat(buf, "i").
clse if(streq(SymbolTablelcp->instack(i}]l, “Uu*))
strcat(buf, "u“);
else
..1049 | strcat(buf, SymbolTable{cp->instack([i]))).
050 }
) }
)
DY Xk - o KK thomax BERFY S,
AR NSRS
)$9_ | ShowacceptedParse(top, max)
1060 | Cell “stop;
1061 | int max;
10627}
1063 register int i, 3.
1064 register Cell *cp;
_1065 char buf{IN_STACKSIZE*2},
1066

1067: AN
N 74:;»0)');.!-&7&&:&1:7—#-:6.

sortcell(top);

VAl

:/'"ﬁrﬁ{. TEIT, KENFR.

for(cp = *top, i = 0, i < globalbeam L&k cp, cp = cp-rnext)

7
1077.] tif TWO_LEVEL
1078 if(cp->topcat == =i}
1079 continue;
1080 i tendiz

)
(o]



SOURCE PROCRAM DATE 2721792 | pacex
TIME

1081
_1082 | if(i >= max)
_1083 ] break;
1084 - "
_1085_ FAR 1 /.
_[O.g,g_ printf(°\da: =, i + 1);
1088} FEAF iy
1089 | cellstring(l, 1, cp, buf),
-.0.9.?_ printf("t-25s*, buf);
109 L
71092 y o527
_1093 | printf(* (prob = t38.51f)", (double){cp->bestprob)*log_henkan);
)
—109% | #if THO_LEVEL
WS : BT AT
_Tog printf(" is*, SymbolTable(cp->topcat]),
0 | Jondif
11027 printf("\n*);
f£flush(stdout),;
+44,
3 }
)
L T T -
FRREdon s ndi S RNER

t(start, end, prob, bestprob, bestpoint)
int start, end, *prob, *bestprob, *bestpoint;

int i, px;
double <xint(),

*bestprob = (int)rint((double)prob(start) / (double}start);
*bestpoint = start;

for(i = start+l; i <= epnd; i++)

{

px = (int)rint((double)prob(i} / (double)i).
if(px > *bestprob)
{

*bestprob = px,
shestpoint = i;




SOURCE PROCRAM

DATE

2/21/92

TIME
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cell.c

11:40:51 am

SOURCE TEXT

Created by Kenji Kita.
711y modified

Y. Hanazava,

fdofine CELL_MAIN

N

finclude <stdio.h>
tinclude “contig.h®
finclude "HMM.h"
| | tinclude “cell.h”

L EHE
nit_cell()

chax *calloc{ )s

if((cellstart = (Cell*)calloc{totalcells, sizecof(Cell})) == NULL)
fatal_errox("No memory for cells.\n");

aiw

y | 'f"éa.nncen( )

4 raegister int i;
4 register Cell *p;
4 Cell *getcell();
3

45
4
4
4
4 cellend = cellstart + totalcells;
for({p = cellstart; p ¢ cellend - 1; pt+}
1N p-dnext = p + 1, -
s p->next = NULL: DR/
&
6]
7. fraeccellp = cellstart;
S g: newcelltop = NULL;

59 ] acceptedcellp = NULL;

69_ celltop->start = 0;
70 ] celltop-d>end = 0:
717

72 celltop-dnext = NULL;
73

/!2 BRAMZ 72 mEE.
clrinstack(celltop);

84 | 11 GTRACE

/"
:}I&REJ‘};;«/ 7.HMM.
elrgstack{celltop):

tenalf
$if SYLLABLE_NGRAM
.
) ‘)'?--an trigrondt MR LD MMAL .
.
clrmstack(celltop),
celltop->symbol (0] = 0x00;
- celltop->moraprob = 0.0,
| tenait

-

/
- wek ERA DML .
4

celltop->prob(0] = O,
for(i = 1; L <= N_frames; i++)
celltop->probtti} = MIN_INT;

Ve
T LRDYKBIF » 7 CHMABOLE Y v i a,
I/'

push{0, celltop).

"1 tir TWO_LEVEL

3. celltop->topcat = -1,
i tendit
)

0
: :/Emtn.w YREFRHEALE L DOR->TL<S.
) Eell *qetcell()

30




SOURCE PROCRAM DATE 2/21/92 | PACE=
cell.c 11:40:51 am

TIME

prape

TINE # B SOURCE TEXT

1210t

122 Cell ps

23 |

24 if(freccellp == NULL)

25 ] 6C():

26! p = freecellp;
7! freecellp = freccollp->next;
8 | return(p).

29 1)

...‘Q

CPDAETEARS
*getcopyl(p)
B:

ETNEENRNENE

register int i;
Cell *qs

if(freecellp == NULL)
GC(),

q = freecellp;
freecellp = frcecellp->next;
/2

ok 22 Holik %

beopy(({cbar *)p, (char *)q, sizeof(Cell));
return({q):

|

BAXD BN DT ERE

s

registor int i;
Cell *q/

if(freocollp == NULL)
GC()/

treccellp,
eccellp = freecollp-d>next;

q->_start = p-)>start;

q->_end = p-dend;

q->_bestprob = p->bestprob;

q->_bestpoint = p->hestpoint;

for(i = 0; 1 <= N_frames; i++)
g->_prob(i} = p->prob(i);

return{q),;

RN NN

00000

extern int Nbest;
int bean;

1 94 bean = globalbean;
951 start:
: boam_search{inewcelltop, beam, °'G');
97 if(tfrececellp)
{

RN

boam_scarch({tacceptedcellp, Nbest, °G');
ff(freeccllp == NULL)
{

--beam;
1f(!bcam)

fatal_error("Cell exhausted.\n"};
goto start;

MNLEERARREHIREEMRT S

_{ rm_dupl{tep)
.| Cell *stop;
{

register int i;
register Cell ‘P, *q, *r, *cp;
int ok

for{cp = NULL, p = *top,; p != NULL; )
{

r = p;
P " p-’next;

ok = 1;

for(q = cp; 4 != NULL;, g = g->next)
{

tf{r->instackptr != q->instackptr)
continue;

for¢i = 0; i ¢ r->instackptr; i++})

{
i2(r->instack[i] != g->instacklil)

>

3
3
3
3
3
3
3
3
4

232 break;
_.233 !
234 1f(% == r->instackptr}
235 {
236 ok = 0,
237 break;
238 1
239 1
240 if(tok)




SOURCE PROCRAM
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11:40:51 am

PACE »

SOURCE TEXT

gq->bestprob =
(r->bestprob < g->bestprob ? r->bestprob : g->bestprob).

r->next = freecellp,
freecellp = r;

)
else

r->next s cp;
cp = x;

}
}
*top = cps

O
it

o

NN
.
S

N
22

4 | §define insert(cp, first, last)

| ]
iﬁiwvv
i o g

(e e ol

FOLE
2]

sortcell(cell)
Cell **coll;

{ ifqrfirst) fixst = cps
else last->next = cp;
last = ¢ps |}

P

Coll *cp = *cell, ‘*lowf, *lowl, °midf, *midl, *highf, *highl,

if(cp == NULL)
return;
lowf = midf = highf = NULL;
insert(cp, widf, midl);
fox(cp = cp->next; cp 1= NULL; cp = cp->next)

if{cp->bestprob < midf->bestprob)
insert(cp, lowf, lowl)

else if(cp->bestprob w»= midf->bestprob)
insert(cp, midf, midl)

else
insert(cp, highf, highl)

!
if(lowf = NULL}
{

lowl=>next = NULL;
sortcell(tlowf),;
fox(cp = lowf: cp->next != NULL; cp = cp—>next)

cp-)next'- miat,
¢p = low(;

else
cp = midf;
if(hight f= NULL)
highl->next = NULL:
sortcell(thight),
midl->next = hight;
*cell = cp;

()
™2




SOURCE PROCRAM DATE 2/21/92 PACE #
TIME  711:08:05 am | -1

BN =

AW

|Cwﬁfﬁw

LU

s ' ot

ddefine LR_MAIN

LU

o

i)

N
)

finclude <stdio.h>
tinclude "config.h*
i{include “LR.h"

efine straq(s,t) ((s) == s(t) && strcmp(s,t) == 0)

COTODAT X e DI BE

]
1
_I
O
i

N et

m;a‘w"w‘—‘o \o:on;v;m‘v‘ia;w;m;

27 | toState(a_tabla, state, lhs
28| Action +sa_table; LRL
2971 int state,
30 i 1hs;
34t )
32} register Action *p;
“3‘ register int *i, n;
'g' for(p = a_table[state]); p != NULL; p = p->next)
37 if(p->input == lhs)
’_g: roeturn(GOTO(p->action));
a }
40 fatal_error(“Cannot find goto state. (state=td, LHSe\s)\n",
‘; state, SymbolTable(lhs)):
4
43} !
A 4 oo
45 EAMDE
6]
47 1 InstallGrammar(g_table, index, left,
81 rule eeg_table; g 7
49 | char *left, *right;
SQ_ double prob;
51
52| register int i, *n;
53 | register char  *p, *q:
54 char work[64], *malloc():
557 Rule ‘rp;
-
57 if(index > MAXGRAMMARS - 1)

fatal_crror(“Grammar too large. Modify MAXGRAMMARS.\n");
for(f = 0, p = right; *p 1= NULL; p++)
itgep == )
+4i;

1
{if((rp = (kule *)malloc(sizeof(Rule))) == NULL)
fatal_error{“No memoxy for cfg rule.\n");
if((n = rp->rhs = (int *)malloc((i+2)*sizeof(int))) == NULL)
fatal_error("No memoxy for cfg rule.\n");
1t STOCFIASTIC_GRAHMAR
rp=>gprob = prob;
lendif

rp->length = { + 1;
rp->lhs = InstallSymbol(left);
p = right;
q = work;
while(l)
‘ .
if(ep == * * || *p == NULL)
{
«q = NUL
N+t = Installsymholtuo:k).
q = work;
)
else
'q“‘ - ‘P'.
if(*p == NULL)
break;
++p;
1
‘n = -1;

g_table(index} = rp;

SR D S K

[FY STOCHASTIC_LR

InstallAction{ReducePacking, a_table, a;;ﬁa;e anut, action, prob)

int RoducePacking; 2 bl YT LTHDHN?
Action eva_table; “LR| l!-.
int state; IRAR
char *input; /AN
int action; Ehe
double prob; v 3SR
ielse
InstallAction(ReduccPacking, a_table, state, input, action)
int ReducePacking;
Action *va_table;
int state;
char *input;
int action;
fendtf
char *malloc(},;

Action *p, vq:

if{state 3> MAXSTATES - 1)
fatal_orroz("LR table too large. Modify MAXSTATES.\n"):

L L{ISREDUCE(action) 4%t ReducePacking)

33
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LR.c

DATE

TIME 1
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SOURCE TEXT

alniatalalalalninis

O DA

o

}
MOV

L I ik

o
i

i~

fendif

char
{

for(p = a_table(state]; p != NULL; p = p->next)
if(p->action == action)

if(streq(input, ENDSYMBOL))
p->input @ HashSymbol(ENDSYMBOL),
return;
}

)
if(!streq({input, ENDSYMBOL))
input = =e%;

11{(p = (Action *)malloc(sizeof(Action))) == NULL)
fatal_error(”No memory for action.\n");
p-2input = InstallSymbol{input);
p->action = action:
>noxt = NULL;

. L.
#if STOCHASTIC_LR
p=>prob = prob;

if{a_table[statc]) == NULL)
a_table(state) = p;

else
{

for(q = a_table{state]; q->next f= NULL; ¢ = g->next)

7
g~Jaext = p;

_+
InstallSymbol(s)

*s;

int index;
char *p, "malloc(),

if(SymbolTable{index = HashSymbol(s)] != NULL)
return({index) s

1f{{p = (char *)malloc(strlen(s)+l)) == NULL)
fatal_error(”"No memory for symbol '\s’.\n“, s5);

stxcpy(p, S);

SymbolTabla(index] = p.

return(index),

iR

Hashsymbol(s)

char *8;
{
char op;’
int old_index, index, n;

fox(index = 0, p = s; *p != NULL; )
index += ep++;
old_index = index = index U MAXSYMBOLS;

for(n = 0; SymbolTable[index] != NULL; ++n, index = (0ld_index+n*a) % MAXSYMBOLS)
{

if(n 1= 0 &t index == 0ld_index)
fatal_error("SymbolTable full.\n"});

if(strcop(SymbolTable[index]), s§) == 0)
break.

]
return{index);




2/21/92 | PACE=
11:14:48 am 1

SOURCE PROCRAM

ReadRules.c

SOURCE TEXT

ey

i’} 1include <stdio.h>
finclude (ctypec.h>
tinclude “config.h”
tinclude "LR.h*

25_] 1definc LPAREN

26_] 1define RPAREN
27 | 1define LBRACE
3 | #defina RBRACE

LY

0

Wi W, W

m

“Unaxpccted EOF.\n"

S LR

(*(s)==*(t) &L strcmp(s,t)==0)

BRAEH:

LGV o ININ -‘\J'

Rea;dRu.lc.s( fp, g_table)

)
LLLLLLLLLLL

0| FILE *tps
1_{ Rule *2g_table;
324 1
03] int c, nrules = 0;
54;_ char 1hs(BUFS1Z), rhs{BUFSIZ), buf(BUFSIZ);

double gprob;

N,
&)

L

A4

rhs(0} = NULL;
if(SkipTo(fp, LPAREN) == EOF)
break,

ZRUL2R L Y
otToken(fp, lhs);
EENLRFOMARH .
GetToken{ fp, buf),

if(tstreq(buf, RERRITESYM))
lex_errox(“Missing or illegal rewriting sywbol.\n");

if(PeokChar(fp) != LPAREN)
lex_orror{“Missing left{open) parenthesis at RUS.\n");
if(SkipTo(fp, LPAREN) == EOF)
lex_error{EOFERROR);
while(l)
[

GetToken{fp, buf);
streat(rhs, buf);
if{PeekChar(fp) == RPAREN)
break;
strecat(xhs, " *},

t
if(SkipTo(fp, RPAREN} == EOF})
lex_arror{EOFERROR);
if(PcokChar({fp) != RPAREN)
lex_error{“Missing rule-closc parenthesis.\n");
Lf(SkipTo(fp, RPAREN) == EOF)
. lex_error{EOFERROR}
$1f STOCHASTIC_GRAMMAR
if((c = PeekChar(fp)) == EOF || ¢ 1= LDRACE)

gprob = 0.0,

SkipTo(fp, LBRACE);
tscanf(fp, “l1f(", igprob),
if(PeekChar(rp) '= RBRACE)
lex_error(~Missing right hrace. n“);

SkipTo(fp, RBRACE).

1

tendit
lustallGrammar(g_table. nrules, lhs, rhs, gprob):

1orie STOCHASTIC_GRAMVAR

InstallVN(lhs, nrules).
endif

++nrules,

}
11l STOCHASTIC_GRAMMAR
inic_prob( ),

: tendit

&2
<
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SOURCE PROCRAM

DATE

2/21/92

TIME

11:14:38 am

ReadLR.c

SOURCE TEXT

==ty

tinclude <stdio.h>
tinclude <ctype.h)

| #include <wath.h>

tinclude <sys/types.h>
tinclude <sys/file.h>
tinclude <sys/stat.h>

20 ] tinclude “config.h*
g tinclude “"LR.h"
-
23] tdefine LPAREN s
24 | tdefine RPAREN )
_..2}—1
|26
27 ]
—35
—%9
3
3
4
35
37 :
38}
9 | LR({ReducePacking, GrammarName, g_table, a_table)
40 | int ReducePacking;
41 | chax *GrammarName;
m 42 1 Rule s«g_table,
43 ] action <+a_table;
44 (
45 extern int lineno;
4 int nstates,
a7 nrules;
48 | char Grammarfile(B80],
49, LRfile(80),
5 ? FILE *fp;
4
S_ intf({Grammarfile, "\s.gra“, GrammarNawme);
‘;_ sprintf(LRfile, *%s,tab", GramuarName);
S8
-
60
]
62
63

(I et

HWN

if{checktime(Grammarfile, LRfile) == 0)
fatal_error("Grammar is old.\n");

RSB AR

lineno = 1;

if((tp = fopen(Grammarfile, “r")) == NULL)
fatal_error(*Grammar file(\s) canmot open\n“, Grammarfile),

tprintf(stderr, *-> Losding grammar rules from ‘\s'...", Grammarfile);

nrules = RecadRules(fp, g_table);
tclose(fp),
tprintf(stderr, *[%d rules]\n*, nrules);

LRAF ST PR

if((fp = fopen({LRfile, “r")) == NULL)

tatal_error{"LR file(is) cannot open\n", LRfile):

tprintf(stderr, *~> Loading LR parsing table from °*is°...", LRfile),

nstates = ReadAction(ReducePacking, fp, a_table),
fclose(fp),
fprintf(stderr, "{\d states]\n", nstates),

ARAT PR B B AR AT a_ table ie :
SRR R WA L A TN

static ReadAction(ReducePacking, fp, a_table)

| int ReducePacking;
FILE “fp;
Action <*a_table;
{
$define ACTMINPROB l.e-8
int state, action, nstates = 0;

char input[64]. buf(64);
#1if STOCHASTIC_LR
double prob;

tendif
/i
UL LR RORH (IAZEEFTR) DI,
v (slr-table) L WIRAHH L L ERELTVS,
cLLoESn :»!&mﬂ‘%lﬂuf'. D7 TANG
:/LRli'lﬁiE’E’l:’:cl\tw L.RRzEns.

SkipTo(fp, LPAREXN):.

GetToken(fp, input).

if(tstreq(input, “"slr-table"))
fatal_error(“Bad LR parsing table.\n").,

SkipTo(fp, RPAREN);

/-
) _::/‘1 BON=7T. 1 20KBICHTL>MERATEARLT.

37




SOURCE PROCRAM

ReadlLR.c

DATE

2/21/92

TIME

11

PACE 2

14

:38 am

o

SOURCE TEXT

&
)

%

BN =IO
v ‘N OIWlW\I|OlV|&

slalalalalaialalalak

tendif

X
[/

lelse

OV bW

I
|

tenaif

{1

)

|t

|

¥£:)
77| static
c¢har

I

while(l)
(
SkipTo(fp, LPAREN);

fscanf(fp, "td“, istate);
while(l)
{

SkipTo(fp, LPAREN).

GetToken(fp, input);
Cbangelnput(input).;

GetToken(fp, buf);

switch(buf[0])

(

case 'a‘: action = ACCEPT; break:

case 's': action = atoi(ibuf(l)); break;

case 'r®: action = atoi(ibuf[l])) + 2°MAXSTATES; break;
casc ‘g': action = atoi(sbuf{l)) + MAXSTATES; break;
default: fatal_error(“Unknown action: ls\n", buf),

]

11f STOCHASTIC_LR

if(buf(0] == *a* || buf[0) == 's* || buf[0) == *r*)
fscanf(fp, "\1lf*, prob);

if(prob < ACTMINPROB)
prob = ACTMINPROB;

pProb = =10gl0{prob).

SkipTo(fp, RPAREN),

11f STOCHBASTIC_LR

Instalii\ction(Reducemcung, a_table, state, input, action, prob),

InstallAction(ReducePacking, a_table, state, input, action);

if(PeekChar(fp) == RPAREN)
f

SkipTo(fp, RPAREN);
break;
}
}
++nstatas,
if(PeakChax(fp) == EOF)
break;

return(nstates);

Changelnput{input)
*input;

register char P
char work({64];

if(streq(input, "==%))
strepy(input, "N").:
else if(streq(input, =i2"))
strepy(input, *"uiv);
else if(streq(input, “u2=))
strepy(input, "Uu*);
else if(streq(input, *q"))
strepy(input, "Q");
else if(streq(input, "ql*))
strcpy(input, “Q1*),
elga if(streq(input, “q2v))
strepy(input, "Q27);

checktime(filel, file2)
*filel, +file2;

struct stat stbufl, stbuf2;

if(stat(filel, istbufl) == -1)
fatal_error(“"Can't access ts\n", filel).
it(stat(filo2, istbuf2) == -1)
fatal_ecrror(“Can‘t access \s\n"”, file2).
if(stbufl.st mtime < stbuf2.st_mtime)
retura(l).
return(0),
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ReadLR2.c

DATE 2/21/92

TIME  11:14:42 am

PACE 2

LINE #

SOURCE TEXT

I

b WFN’—

)

o o Do ke

(N (=)

i
1

Novw bl

o
\

tinclude
f#include

L

tinclude

tinclude

SRS

|thJ“

tif THO_

tdefine
tdefine

=i
1

#define
{dafine
tdofine
tdofine

L

fdetfine

|

.m.m. ] %
N W i ek g

!

%
int

fendif

ReadLR2(
int

char

Rule

ey

‘ ;Jnu..snAu 'S

k)
)

Action
(

it TRO_

2 )

OV BN

fendif

i)
O

tenait

1| tendit

int
FILE
Action

tdetine

i tendif

tondit

VH'WN =0

OO N

121t THO_

Fa1L Tio_

finclude <stdio.h>
tinclude <ctypo.h>
tinclude <math.h>

<sys/typos.h>
<{sys/file.h>
{sys/stat.h>
*config.h"

finclude "LR.h"

LEVEL

FALSE 0
TRUE 1
LPAREN '
RPAREN .
LBRA .
RBRA .
streq(s,t) "

*allcat;

ReducePacking, GrammarName, g_table, a_tahle)
ReducePacking;

*GrammarName;

*+g_table;

**a_table;

extorn int 1ineno;

int nstates, nrulos, ncats;
char Gratuwarfile(80), LRfile[80]);
LEVEL

char Catfile(80);

FILE  *fp:

sprintf(Grammarfile, “Vs.gra", GrammarName),

sprintf({LRfile, *"\s.tab”, GrammarNawe);
tif TWO_LEVEL
sprintf(Catfile, "\s.cat", GrammarName),;

if(checktime(Grammarfile, LRfile) == FALSE)
fatal_error(“Grammar is old.\n");

1inéno =1
if((fp = fopen(Grammarfile, “r")) == NULL)

fatal_orror(“"Grammar file(ts) cannot open\n”, Grammarfile),
fprintf(stderr, *-)> Loading grammar rules °‘\s‘'...", Grammarfile);
nrules = ReadRulas{fp, g_table);
fcloso(fp).,
fprintf({stdorr, "[1d rules]\n", nrules).

LEVEL
it((fp = fopen(Catfile, “r")) we NULL)
fatal_error(“Cat file(ls) cacnnot open\n", Catfile);
ReoadCat{fp, sallcat);
fclose(tp),

lingcno = 1;
if((fp = fopen(LRfile, "r")) == NULL)

fatal_error("LR file(\s) cannot open\n", LRfile),
fprintf(stderr, "-> Loading LR parsing table °\s'...", LRfile);
nstates = ReadAction2(ReduccPacking, fp, a_table):
fclose(fp).;
fprintf(stderr, “[\) states]\n", nstates):

ReadAction2(ReducePacking, fp, a_tahle)

ReducePacking;

*tp;

*va_table;

ACTMINPROB l.e-8

int state, action, nstates « 0,

char input{64], buf(64];

6 | $if STOCHASTIC_LR

douhle prob;

LEVEL
int Cot[MAXGRAMMARS ) ;

SkipTo(fp, LPAREN).
GetToken({fp, input),
tf(tstreq(input, “slr-table™))
tatal_error(“Bad format in LR parsing table.\n");
SkipTo(fp, RPAREN),

while(l)
{




SOURCE PROCRAM DATE 2/21/92 PACE @
Read LRZ-C TIME 11:14:42 am 2

L AN

e nAd st

SOURCE TEXT

SkipTo(fp, LPAREN);

fscanf{fp, "\d", istate):
while(l)
{

SkipTo(fp, LPAREN);

GetToken( {p, imput),;
Changelnput(input),

GetToken({{p, buf);
switch(buf{90]))
{

4 | casc 'a': action = ACCEPT; brosk;
S| case ‘s': action = atoi(tbuf(l)); break,
6| case 'r': action = atoi(tbuf{l)) + 2*MAXSTATES; break;
7] cage 'g': action = atoi(tbuf{l)) + MAXSTATES; break:
""?g‘ default: fatal_error(“Unknown action: ts\n", buf),s
—r0 :
141 1 11f STOCHASTIC_LR
2 1f(buf(0) == *a* || buf{o) == *s' || buf(0) == °x*)
4 fscanf(fp, "\1f", prob);
44} if(prob < ACTMINPROB)
45 | prob = ACTMINPROB.
146 ] prob = ~loglo(prob);
47 | tenait
28 ]
[T_149| 14f TWO_LEVEL
_:gfi_ 1if(buf[0) == *s*)
{
___é%_ if{streq({input, "Q1*) || streq(input, =Q2°))
{
S register int i,

for(i = 0, allcat[i) t= =1; fi++)
cat(i) = allcat(il;
cat(i] = -1,
)
else
{
if({1ReadCat2(fp, cat))
fatal_ecrror(“"No cat. states\&\n", state};
)

tenait

SkipTo(fp, RPAREN);

$if STOCHASTIC_LR
InstallAction2(ReduccPacking, a_table, state, input, action, prob):

jelse
InstallAction2(ReduccPacking, a_table, state, input, action, cat);

]

74| tendit
if({PeckChar(fp) == RPAREN)
{

SkipTo(fp, RPAREN);

break;
]
++nstates;
if(PeckChar(fp) == EOF)
braak;

}
return{nstates),
}

static ChangelInput(input})
char *input;
(
register char P/
char work(64]);

if(streq({input, “=*))
strepy(input, "N");
else if(streq{input, *i2*))
strepy(input, “Ui%);
else if(streq{input, =u2*}))
strepy(input, *"Uu*);
eclse if(streq{input, “q"))
strepy(input, "0");
else if(streq{input, “qlL"))
strepy(input, “Ql*};
else if({streq{input, =q2"))
strepy(input, "Q2%);

09 | static checktime(filel, file2)
O_i char *filel, ~file2;
{
struct stat sthufl, stbuf2;

W =

| & if{stat(filel, &sthufl) == -1)
1S fatal_error(“Can't access \s\a", filel);
6 if(stat({file2, isthuf2) == -1)
| 7 i fatal_error(“Can't access \s\n", file2);
2181 if(sthufl.st_mtime < stbuf2.st_mtime)
219 return{TRUE)
return{ FALSE);

|
I ReadCat2(tp, cat)
F

B *tp;
int scat;
{
regisnter int is
char but[BUFSIZ]);
i=0;

if(PeerChar(ip) '= LBRA)
recurn(0) .,

SkipTo(Lp, LDRA);

whiletl)

{

GetToken(ip, bufl),

cat(ir-] = HashSymbol({buf),

if(PeckChar(Lp) == RBRA)
break;




SOURCE PROCRAM

PACE #

ReadlLR2.c

: e e R et F
LINE # SOURCE TEXT
240 ] SxipTo(fp, RBRA);
242 ] cat[i]) = -1,
243 | return(l);
24411
245
246 ] Installaction2(ReducePacking, a_table, state, input, action, cat)

2471 int ReducePacking,;

248 | Action =sa_table,
2391 int state;

250 | char *input;

251 ) int action;
252 | 1ot *cat;

253 |t
— 254 | char *malloe()

Action +*p, <q;

if(state > MAXSTATES - 1)
fatal_orror("LR table too large. Modify MAXSTATES.\n");

1f(ISREDUCE{action) t& ReducePacking)
(
for(p = a_table[state]; p 1= NULL; p = p->next)
if(p->action == action)

if(streq(input, ENDSYMBOL))

return;

}

]
if(15treq(input, ENDSYMBOL))
input = =e=;
}

Lf((p = (Action *)malloc(sizeof(Action))) == NULL)

fatal_error(“No wemory for action.\n");

p->input = InstallSymbol(input);

;,__ p-daction = action;
279 | p-2next = NULL;
—2807] #1f STOCHASTIC_LR

P-Jprob = prob;
82 | tenait

—283| #1f TWO_LEVEL
284 | if(ISSRIFT(action))
{

int *iot_copy()s
p=>cat = int_copy(cat);

}
else

291 p-d>cat = NULL;
T 2927| tenait

293 if(a_tablae[state] == NULL)
29 n_table(state)} = p;
295 | else

296 ] t
297 for{(q = a_table{state]; g-dnext != NULL: g = g->next)

— 299 | q->next : P:
}

—303 | telse

"?o“g‘ ReadLR2_dummy ( ){ }

"—3077] tenair

p=)input = HashSymbol(ENDSYMBOL).




SOURCE PROCRAM
fileio.c

DATE 2/21/92

TIME  11:41:12 am

PACE &

3 e T ST T DTl T

e e

SOURCE TEXT

iazey

1include <(stdio.h>
1include <ctype.h>

{define FALSE 0
idefine TRUE 1
idefine LPAREN .
1define RPAREN .

w;en N oW AW =)

N' ! l
i

N!
™M

‘w

AR T #D2TE

i

&

|

MWW WL WIS N,

L

lineno = 1;

|wlun

tToken(fp, s)
FILE “tp;

char s

{
int c:
char *p;

SkipSpace(fp),

P~ S
while({tisspace(c = inchax(fp)) &t c != LPAREN &t ¢ != RPAREN)

alalal utnth p.I'J'J-’

if{c == EOF)

50| lex_errox(*Unexpected EOF.\n"};
51| if{isuppor(cy)
52 ] *p++ = tolower(c),
53] else .
54| tptt = ¢y
S }
656 | *p = NULL;
57 ungetc(c, fp),
5811
39
60

SkipTo(fp, ch}
FILE “fp;
65 | int ch;

61t

register int (-7

while({c = inchax(fp)) != ch)

if(c == EOF)

return(EOF);
1
return{ch):
§E{p5pace( p)
FILE fp;
t
int <

while(isspace(c = inchar(fp)))

if(c == EOF)
roturn(EOF);

ungetc(c, f(p),

return(c).

2T AWERA LS ST RAREINEIXNFERMAT S,

REST4
96_| peckChar(fp)
97| FILE *fp;
(

int c;

if(SkipSpace(fp) == EOF)

return(EOF);
ungete((c = inchar(fp)), fp),
return(c);

CIXFRARD DX ARBHERALELT

el
.{ inchar(fp)
1FILE  <tps

iz §

int c;
if((c = getc(fp)) == COMMENTCHAR)
{
while((c = getc{fp)) != '\n'})

¢ = '\n';

42




SOURCE PROGRAM

DATE

TIME

SR prinee b B 84

) |2/
lex_error({fmt, args)

fileio.c
SOURCE TEXT
1f(c == ‘\n*)
++lineno;
return{c);
ANBRBERADIZ LG HRADOI DL TF— A=V EFRRE,.

efot;
args;

fprintf(stderr, "Error at line td: =, lineno),
_doprnt(fmt, targs, stderr),
exit(l);

43

11:41:12 am




SOURCE PROCRAM DATE 2/21/92 PACE #
error.c TIME  11:41:06 am 1
g D T T T s i VIR T ; F R A 4l .
SOURCE TEXT
LRk S VORE
terpréting: Telephony. Roséarch;Laboratories:
— Sy
_—-—'— a

#include <stdio.h>

char *fmt;

int args;

_doprat(fmt, iargs, stderr).,

28 | fatal_errorx(fmt, args)
2%_ char ‘fmt,

int args:
(

~doprnt({fmt, targs, stderr):

exit(l),




SOURCE PROCRAM
beam.c

DATE

2/21/92

TIME

11:40:13 am

SOURCE TEXT

: ATR Interpreting Telephony Research-’Laboratories.

4-Feb-1990. Created by Kenji-Kita.

tinclude <stdio.h>
tinclude “config.h”
tinclude "hmulr.h*

R

i
1

/v

ble <*beambuf,

*beamend, select_thresh{);

CR RS F AN 2T DS

nit_beam()

int beambufsize = totalcells.

if({(beambuf = (double *)calloc(beamhufsize, sizecf(double})) == NULL)
fatal error( "No memory for beam buffer.\n"),
L d = L but + 1 bufsize;

A= R TS
D) Ak rep” ﬂ-»tl’ﬂ)fén-tllr beam 8%
B0 ST RIS BEEN YA R ER D

beam_search(top, beam, cc)

) i Celld tetop; /ey o) 'l P s/

) | int beam; /Tt = L] R

817} int ccs 7 BlE L *fﬁm b
t

register int n;

register double +d;
register Cell *‘cp. Py *q:
double thresh;

int debug_flag;

if(!=top) return;

for{n = 0, d = heamhuf, cp = “top; cp != NULL; cp = cp->next, n++)
(

*ds++ = cp-dbestprob;

if{d > beamend)

break;

H
thresh = select_thresh{beanmbuf, n, beam),
for(cp = NULL, p = “top, p != NULL; )}

q = p;

P = p-ruext;
if(g-:bestprob > thresh)
{

q->pext = freccellp:
freecellp = ¢,

g-rnext = cp,
cp = Gy
}

‘top = cp,

©BF| vio),v(L},....¥[n) Dp s K
k7 "J:'ij:?ﬁ'llv. T

- quicksort TR L7  EMMMT n TV L LFRA,

./

MUritop 2R ATE .-




SOURCE PROCRAM
beam.c

DATE

2/21/92

TIME

PACE #

L iy

T Ry

11:40:13 am

SOURCE TEXT

Wi, N
019

W

Wi !
°|“|°° N oy .hiwlw —‘

double select_thresh(v, n, k)

double v;

int n, k;

{
register double *left, °*right, *pivot;
int loftsize;
double maxval():s

1£(k > n)
return(maxval(v, n)).;
if(n <= 1)
return(v(0)).,
i1f(n <= QTHRESH)
{
shellsort(v, n);
return(vik=-1]),

)
left = v;
ght = v+ n - 1,

alalalats!
PO

pivot = v;
swap(pivot, right),

199

LYY J
Ny

&

]
5235

7]

()
lO

4 pivot = right,
4
rvi .
148 |
149 while(left ¢ right)
150 {
151 ] whila{*left ¢ =*pivot it left < right)
++loft,
while({*right >= *pivot &i left < right)
4 --right;

if(laeft < zight)
4
swap(left, right);
++left,
)
}
if{right == v)
(

swap(right, pivot);
++right;

)
if((leftsize = right - v) >= x)
return(select_thresh{v, leftsize, k));

else

roturn(select_thresh{right, n - loftsize, k - leftsize)),

maxval(v, n)

-
ns
{
register iot s
double max = 0.0,
for(i = 0; § < n; f++)
1f(v(i) > max)
max = v(i};
]
return(max);
)

Y
0.
()

[
1
)

:9.9,0.0.0,9.9 Ov-re
L D e e Tt P

O

N
(|

shellsort(v, n)

double *v;
int n;
{
register int gap, 1, 3:
double tmp;
for(gap = n/2; gap > 0; gap /= 2)
{
for(i = gap; 1 < n; i++4)
(
for(j = i-gap; j >= 0 ¢ v(j} > v(j+gap); J -= gap)
tmp = v(j).
v[j) = vij+gapl;
v(i+gap] = tmp;

46




SOURCE PROCRAM DATE 2/21/92 | paces

verify.c TIME  11:43:54 am

SOURCE TEXT

A/

|
‘:-iwru—
}

l |
i
i
o

;p caliam.c T b,
< hmmlr, ¢
) t04 SPIx=2ATHS,

I

0,

[

!

@

2] .
3 7
14
151 1include <stdio.h>
167} tinclude <math.h>
___ 171 dinclude “config.h"
1'8_| 4include “hmmlr.h"
19
20
2]
— %} l:s/u
_ efinc streq(s.t *(8) == *(t) &L strcop(s,t) w= O
—54] eq ) (*(s) (t) Pl ) )
251 tdefine MIN(x,y) CCEx) < (¥)) ? (x) : (y))
_ggi tdofine MAX(X,Y¥) (LX) € (¥)) 2 (y) : (X))
28
29
.30}
31 | verify_start(cp,
32| cer “cp;
331 int thresh;

t

L

verify(“Ql*, 0, thrash, icp->start, icp-lend,
tcp->bestprob, icp->bastpoint, cp->probj;

% FERANE DR G022 RA
'vc:'ﬂy end(cp, thresh)

verify(~Q2*, 0, thresh, scp->start, scp-dend,
tcp->bestprob, scp->bestpoint, cp->prob);

ify(phone, flg_vow, thresh, ntut, end, bestprob, bestpoint, prob)
PP A M A

56| char *phone;
87 int tlg_vow;
58| int thresh;
S9 | int «start;
607} int *end.
61| int *bestprob;
62.{ int *bestpoint;
| int *prob;
4
int start2, end2;
int st, dur_f1;

Entry *entryp, °*lookup();
1DUR ~dur_p;
int old_bestprob = *bestprob;

if({(entryp = lookup{phone)) == NULL)
fatal_errox{“Can't lookup ‘'\s‘'.\n", phone);,

dur_f = (flg_vow &t entryp->num_dur > 1) ? 1 : O;
dur_p = entryp->duration{dur_t£);

start2 = sstart + dur_p->lenmin;
end2 = MIN(N_frames, *end + dur_p->lenmax);

1f({start2 > N_frames)
st = 0;

elsc if{streq{phone, “Q2") tt end2 1= N_Crames)
st = 0

else

{
cal_iprob(entryp->model, dur_p, prob,

*start, *end, start2, end2).

*start = start2;
*end = end2;

st = hest_iprob(dur_p, *start, *cnd, prob,
thresh, bestprob, bestpoint);

if{st &6 First)
cut_prob{start, end, *bestpoint, thresh);

++total_verify,

|}
*bestproh *= -1;
dir 0
printf("verify(\s, \d, \d, \f->\f)\n", phone, *start, send,
rendit {double)old_bestprob*log_henkan, (double}{*bestprob)*loqg_henkan),
endi
return{st);
1

tn7) B AR n&mﬁ.ﬁﬁT&%mZ#mabkﬁ VoRELSTD,
,~cu= rob()lﬂu‘ 7V~ LHEHLTR L. threshola 2 1T .
R MAEM:E#mumEQTa

LtMﬂL,hne#7v CHERENL L EDAGITRS .,

cut_prob{start. end, best, thresh)
i *start, -“end, best, thresh;
At

register i

for(i = -start; i < best; i-=+)
if(NormProb(i} >= thresh)

47
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verify.c

;

11:43:54

am

_121 break;
1227 sstart = {;
123 ] for(i = *ond; 1 > best; i--)
124 if(NormProb{i] >= thresh)
125 | break;
126 cond = §;
127 1)




SOURCE PROCRAM

DATE 2/21/92

am

11:43:48

PACE #

time.cC

£ e,

TIME

R S T e e,

SOURC

E

TEXT

static long peicrosec = 0;

23]
A%: long microseec, clock();
£
27 microsec = pmicrosec;
28 | punicrosec = clock();
g_ return((pmicrosec - microsec)/1000);
— 3
—3
3
3
— 3.
4
Y
%
4
3
4
4
4
_‘ ]
S roaltime()
—31
52 static long psec = 0;
g_z_ ionq s:c, tsec;
ong tiwe() s
-
56! tsec = time((long *)0);
577 sec = tsec - psec;
58 psec = tscc;
.59 | return(sec);
60} }

9
0|
! e Tm=/
12
3 | tinclude <stdio.h>
4_] tinclude <sys/time.h>
é_ tinclude <sys/resource.h>
7
18]
9
— 20| 8=
— 21|
22 cputima()

e




SOURCE PROGRAM

Stochasti

DATE

2/21/92

11:15:18 am

PACE #

= — o

cGrammar.c

SOURCE TEXT

3 RT'R_ iInterpreting:Telephony ‘Labdratories.

tory

| 1include <stdio.h>

tinclude <math.h>

tinclude "config.h*
) | #include “hmmlr. h*

fif STOCHASTIC_GRAMMAR

N!Nl;N

F3 IS D ROER

OviH

¥define MAXVN

N

)

0

00N

l

._,,.

S e

40
L
42
4
44
45
4
47|
48
L 49]
S0 |
S
22 .
53 3
—2 - 3
—22 ’
é_?_ ypedef struct VN
3 char *name;
5 int *rules

VN;

*VN_Table[MAXVN);

3 0 P B .00 ¢

__.é_ init_prob¢)
88|
69 _ register int i, 3.
70 int totalrules;
71 double totalprob.
VN *vp;

for(i = 0, i < MAXVN; i++)

if((vp = VN_Table[i]))} == NULL)

continue;
for{totalrules = 0, totalprob = 0.0, j = 0; vp->rules{j] t= EOR; j++)
(

totalprob += Gprob{vp->rules(jl):
++totalrules;

for(j = 0; vp->rules(jl i= EOR; j++}
{
if(totalprob == 0)

Gprob(vp->rules{j}) = 0.0;
else

Gprob(vp->rules{j)) = Gprob{vp->rules{j)])/totalprob,
: Xdog.
1T({Gprob(vp->rules(3)) ¢ GMINPROB)

Gprob(vp~>rules(j)) = GMINPROB;
Gproh(vp->rules{jl) = -loglO(Gproh{vp->rules(j})}:

JE#5 B2 Foawe T IS H D AN NEF rulens &

9’;w~'r_'rab1e (-3 5

103} InstallVN(name, ruleno)
char “name;
i int ruleno;
06! ¢
register int i
). int index, size, rnewrules,
O char *p. *malloc(),
[} VN ~vp;
1
L _§~ Lf((vp = VN_Table[index = VNhash(name))) == NULL)
. {
114 L1f((vp = (VN *)malloc(sizeof(VN))) == NULL)
115 goto NO_MEMORY ;
116 if({p = (char *)malloc{strlen(namej+l})) == NULL)
L7 goto NO_MEMORY ;
18 strepy(p. name);
118 if((newrules = (int *)malloc({2+*sizeof(int))) == NULL)
20 goto NO_MEMORY

50




SOURCE PROCRAM
StochasticGrammar.c

DATE 2/21/92

TIME  17:15:18 am

PACE #

iiril

SOURCE TEXT

|

B

N !

Sl

newrules(0] = ruleno:
newrules(l) = EOR;
vp=2name = p;
vp=>rules = newrules,
VN_Table[index]) = vp.

for(size = 0; vp->rules[size) t= EOR; size++)

:
if((newrules = (int v)malloc{(size+2)*sizeof(int))) == NULL)
goto NO_MEMORY;
tor(l = 0; vp->rules[i]) I= EOR; i++}
newrules[i) = vp->rules(i),
newrules(i++) = ruleno;
newrules(i]) = EOR;
free({char *)vp=>rules);
vp-irules = newrules;

}
return{index),
NO_MEMORY :
fatal_erxor("No memory for non-terminal ‘\s‘.\n", name);

TR

’d
} | VNhash(s}

char 8,
(
char *p;
int old_index, index, n;

for{index = 0, p = s5; *p t= NULL; )
index += sp++;
old_index = index = index { MAXVN;
fox(n = 0, VN_Table[index) != NULL; ++n, index = (old_index+n*n) t MAXVN)

1f(n != 0 t¢ index == old_index)
fatal_error("VN_Table full.\n");

if(stxcmp(VN_Table{index}->name, s} == 0)
break;

}
return(index);
!

felse

StochasticGrammarDummy() (}

"] tendif




SOURCE PROCRAM

DATE PACE #

2/21/92

calcprob.c TME  11:40:21 am
SOURCE TEXT
CRUENRUE T AL L2 RRDAKLE
g: : ATR Interpreting Telephony Research Laboratories.
g—_ -History
9~ ‘15~Nov-1989, - Croated by Kenji:Kita.
0] 3-Jul-1990, Modified
)
7 Sagsanans ey
4| 1include <stdfio.h>
S | tinclude <math.hd
6_| tinclude °config.h*
7 { tinclude “hmmlr. h*"
tinclude "ngram.h”
tinclude “hash.h*
2
—5i
__%{ )X FEF s e AT L VWA HRT S
%};v:'ia{iunn streq(s,t) (*(8)==e(t) bt strcmp(s,t)==0)
— %’;‘ #4f STOCHASTIC_GRAMVAR
—28 i B OXERANORAER L
30 efina Gprob(i) (GrammarTable[i}->gprob)
,5: tenait
3_‘3 1f SYLLABLE_NGRAM
T35
6 175/
_3{_ t define MAXGRAM 3
4 FEORYEHLE,
4 ‘;’,_ define MAXCONS 32
4
44|
:g THCERATIRTRALR .
) t'z“ define MAXMORAIDX 16
4
— 74 SE
W)
d)ﬁv»:\t.?jf24'/Iz>25ﬂv\«.a‘.‘

LJ.'F@!I’:?F-:-

define MORA_NGRAM
fendif

*/i1gl/LR/Ngram/DataLvow/mora~

double Wl = 0.0,
W2 = 0.0;

XEICHT S
trigram:{l

3?‘9’ mx»/

-FH
7o Fw

E /
inlt_sceliug( )
{

1€({ STOCHASTIC_GRAMMAR t¢ STOCHASTIC_LR)
fatal_error(~Bad configuration.\n%);
1 (STOCHASTIC_GRAMMAR &t K1 ) 0.0)
printf(*11! USING STOCHASTIC GRAMMAR.\n");
L€(STOCHASTIC_LR &¢ W1 > 0.0)
printf(~1#! USING STOCHASTIC LR PARSING.\n"):
{£(SYLLABLE_NGRAM &% %2 > 0.0)
printf(=#8t USING SYLLABLE NGRAM.\n"};

LE(KLl == 0.0 &b %2 == 0.0)
{
1 £(STOCHASTIC_GRAMMAR || srocnmsnc_m)

ne.wprol)(cp, and)
Cell *cp;
int end;

‘.,
double gprob, sprob, syllable_prob().,

register int

gproly = sprob = 0.0,
i f1if STOCHASTIC_GRAMMAR
for(i = 0; 1 ¢ cp-rgstackptr, §++)
gprol += Gprob(cp->gstack(il}).
tendifr

.1 #if STOCHASTIC_LR

for(i = 0. 1 < cp-llstackptr; i++)
. gproh +» cp-~rlstack|i)->prob;
priatf{(“gprob = tif\n", gprobj),
tendif
1 31? SYLLABLE_NGRAM

if(®2 > 0.9)
sprob ¢ syllable_prob(cp, eond),

tendif

Kl = 0.04, W2 = 0.0,
else 1((5\ LLA!JLE NGRAM)
= 0.0, ®2 = 0.25;
!
printf("its Wi(GrammarWeight) = \1f, W2(SyllableWeight) = t1f.\an",
®l, W2),
ltlusls(sw;ut):
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SOURCE TEXT

cp->bestprob = (1.0 - W1 = W2)*cp->bestprob
+ (Wl+gproh + W2"sprob)/log_henkanlO;

)
| 11t syLLABLE_NGRAM

5 gtablc *Sngram{MAXGRAM) ;
13417
-
136
__ﬁz._
139
40,
71
42
—1a5
44
4
-
T4
4
i
1S3 char ~cons;
4 int num_mora;
int mora_idx(MAXMORAIDX] ;
) ConsTable |MAXCONS) ;
o] int Ngram, Nsymbhols, Nsamples, MaxCons = 0,
=f

65 | syllable_prob(cp., end)
66 | Call *cp:

167 ] int end;

__168 1 {

169 | rogister int i, 3;

—_1707] int index, ptr, pos, len;

7} char *lastsym, lastchar, buf(BUFSIZ);
;4 double prob, consprob, orrprob = l.e-5, delint_prob():

1747 consprob = 0.0;

__’;_5_ lastsym = Symho].'rubl.ounstncktop(cp)l,

__—;{: if({streq(lastsym, “"pau”))

—4 {

179 ] len = cp->nstackptr;

180 goto END;

)
182 |
if(end) streat(cp->symbol, “i");

184 ] else if(streq(lastsym, “sy")) strcat{cp->symbol, “sh®);

185 else 1f{streg(lastsywm, "cy")) strcat{cp->symbol, “ch*);

186 olse if{streg(lastsym, “Ui")) strcat(cp->symbol, "i");

1877 else if{streg(lastsym, “Uu®)) strcat(cp->symbol, "u");

__gg_ else strcat(cp->symbol, lastsym);

::‘3:': lastchar = cp->symbol(strlen({cp->symbol) - 1};

1 2: if(lastchar == *a° lastchar ss *§{°* ' lastchar == ‘u’
3 l lastchar == ‘'¢°* lastchar == ‘o° lastchar == 'N*
4_| lastchar == 'Q' lastchar == *}')

for(pos = 0; pos < strlen(cp->symbol): )
{
)’n

‘alcéulate mora iiidex.

i = search_mora(moratbl, tcp~>symbol(pos]), tlen).
if(i == ~1)
return(- 10910(er:prob)|.
/+fatal_error(“mora error(is)\n“; cp->symbol),s/

mpush(i, cp),
pos += len;

‘»’Calculate mora prob.

for(index = 0, { = 0; { < Ngram; i++)
{

if({ptr = ep-dmstackptr + i - Ngram) >= 0)

:{:6 index = index*Nsymbols + cp->mstack(ptr];
B |
__217 ] prob = delint_prob(Ngram, Sngram, Lambda, Nsawples, index);
,;:g_ cp->moraprob +¢ =loglO(prob):
—L19] t
220 cp->syuhol{0) = 0x00,
221 len = cp->mstackptr;
222 | )
223 else
224, {
2% for(index = 0, { = 0, L < Ngram - 1; i++)
££0 ] {
27, if{(ptr = cp-imstackptr « i - Ngrawm + 1} >= 0)
.g index = f{ndex*Nsymbols + cp-dmstack(ptr];
)
tor(i = 0, 1 & MaxCous,; is++}
{
if(streqeep-? symhol, ConsTablel[i].cons))
hreak,
2. 1
235 LL(i = MaxCons)
236 t
237 return(-10919({errprob));
_.23.8_ B X /* cellstring(l, 0, cp, bur);
_%23_ R fatal_error{~cons error(ls,ts)\n*, buf, cp=>symbol); */
i

53
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for(j = 0; 3 < ConsTableli).num_mora; J++)
{

consprob 4=
delint_prob(Ngram, Sngram, Lambda, Nsamples,
index + ConsTable(i).wora_idx{3}).
]
consprob = -loglO{consprob);
len = cp-d>mstackptr + 1.

prob = (double)(cp->moraprob + consprob)/(doublejlen;

return(prob),

nit_sngram()

register int i,

char foeme[80), *e*symtbl, 'malloc():
int ngram;

FILE *fp;

L1L(H2 == 0.0)

Teturn;
for{i = 0; 1 < MAXGRAM; i++)
t

if((Sngram(i) = (gtable *)wmalloc{sizeof{gtable))) == NULL)

fatal_error(“Can‘'t alloc mora ngram table.\n");
sprintf(fname, "ts.%d", MORA_NGRAM, i + 1)
fprintf(stderr, "-> Loading t\s", fname): fflush(stderr);
readngran{fname, Sngram(i});

RREH AR

sprintf(fnzme, “is5.sym", MORA_NGRAM),
fprintf(stderr, "-> Losding ts\n", fname);
readsymbol(fname, isymtbl, Sngram(0)->nsymbols);

cin DI =TT RT WAk

BN=RE
hal: A
“for(i = 0; 1 < MAXGRAM; i++)
Sngram(i)=>symbol = symtbl;

38 TR B

printf(fname, *\s.lambda®, MORA_NGRAM);

if(({fp = fopon{fname, *x")) == NULL)
fatal_orror(“Can‘'t open \s\n", fname);

fscanf(fp, “\d", ingrem);

for(i = 0; 1 < ngram + 1; i++)

(

fscanf(fp, “V1lf", tlambda(i}).,
printf(“##4 Lambda(td) = t1f\n", i, Lambda(i));

}
fclose(fp):
Pt

THEGRRBTOERTEARYL
sprintf(fname, “\s.idx", NORA_NGRAM).
init_cons(tname);

ol
CPOMDRARE.

Ngram = Sngram|MAXGRAM-1}->ngras;

Nsymbols = Sngram(MAXGRAM-1]->nsymbols.
Nsamples = count_samples(Sngram(0] ).

/%ﬁf&a‘nﬁﬂ)‘l'\'»i»iri CTF=TNEAER,
moratbl = init_hash(Sagram(0]->nsymbols};

for(i = 0; { < Sngram(0])->nsymbols; i++)
install_mora(moratbl, Sngram(0]=->symbol(i), 1i).

7 A i tneme L SFFLGRBEFN-RERABC.

inft_cons( fname)

sfnama;
register int i, 3.
char cons{32], wora{l2}, *salloc():
FILE tp;
if(({p = fopen{fname, “r")) == NULL)
fatal_error(~Can't open is\n", fname),
while(l)
§
if{fscanf(Lfp, "is\s", cons, mora) == EOF)
break;
for(i = 0, £ < MaxCons; i++)
{

if(streq(cons, ConsTable[i).cons))
break;

if(i == MaxCons)

ConsTable([i).cons = salloc{cons),
ConsTable(i).num_mora = 0,

for(j = 9; j < Sngraw[0]->usymbols; j--)
(

if(streg(mora, Sugram{9])->symholljl))
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END:

1

. trigram ) T

for(j = 0; 3 < ConsTableli).num_mora; ++)
$
consprob +s=
delint_prob(Ngram, Sngram, Lambda, Nsamples,
index + ConsTable(i).mora_idx(3));

)
consprob = -~10910(consprob);
len = cp->mstackptr + 1;

prob = {double)({cp->moraprob + consprob)/(double)len;

return(prob);

7/
nit_sngram()

register int i;

char fname(80), **sywmtbl, *malloc();
int ngram;

FILE ‘ip;

LI(K2 == 0.0)
return,

or(i = 0, L < MAXGRAM, f{++)

if((Sngram{i]) = (gtable *)malloc(sizeof{gtable))) == NULL)

fatal_error("Can't alloc mora ngram table.\n");
sprintf(fname, “\s.\d", MORA_NGRAM, i + 1)/
tprintf(stderr, "-> Loading Vs", fname); fflush(stderr);
readngran( fname, Sngram(i));

FHOZRRTMANU
sprint{(fname, "ts.symn", MORA_NGRAM);

fprintf(stderr, "-> Loading is\n", fname);
readsymbol(tname, tsymtbl, Sngram{0)->nsymbols);

ERTIRBED

tor(f = 0; i < MANGRAM; i++)
Sngram[i)->symbol = symtbl;

WROHLATTR

v, ¥

“sprintf(fname, “ts.lambda”, MORA_NGRAM);

if((fp = fopen(fname, “xr*)) == NULL)
fatal_error(”"Can't open \s\n", fname);

fscanf(fp, “\d“, sngram);

tor(f = 0; { < ngram + 1; i++)

{

tscanf(fp, "\lf", slambda(i)).

printf(“i#} Lambda(td) = \1f\n", i, Lambda{i]);
]
fclose( Ip);

P
FLEBEBBTOEREMABU
" sprintf(fname, “\s.idx", MORA_NGRAM);
intt_cons(fname);

/U-('O/}‘”Ji‘ﬂ@!ﬁ% i

Ngram s Sngram(MAXGRAM-1)->ngram;
Nsymbols = Sngran[MAXGRAM-1]->nsymbols;
Nsanples = count_samples(Sngram[0]));
Vol

f/ﬁ BRAAOAY VT T T R EERE

‘moratbl = init_hash(Sngram{0)=>nsywbols);
for(i = 0, { ¢ Sngram[0]->nsymbols; i++)
install_mora(moratbl, Sngram([0)->symbol(i), i),

/ . .
TTITAN thame b TELGRUBTFO-RERANAU,

‘init_cons(Lname)

char
{

* {nawme;

register int i, 3:

char cons[l2), mora{l2}), ¢*salloc():
FILE “Lps

if¢{tp = fopen{fnawe, “r“)) == NULL)
fatal_error{"Can‘t open is\n", fname);

4 while(l)
345 t
346 ; if(tscanf{(fp, "Vsis", cons, mora) == EOF)
387 break;
348, tor(i = 0; i ¢ MaxCons; i++)
349 {
.350 if{streq(cons, CousTable(i].cons))
351 break;
352 |
353, if(i == MaxCons)
354 {
355 ConsTable(i}.cons = salloc(cons);
356 ] ConsTable([i].num_mora = 0;
357 )
;gg‘ for(j = 0, j < Sagram(0})->nsymbols; j++)
. {
3 if{streq(mora, Snaram[0])->symbol{j})}
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X F A

break.

)
Lif(3 >= Sagram[0]->nsymbols)

fatal_error(“mora error(\sj\n", mora);
ConsTable[i).mora_idx[ConsTable[i].num_mora++} = j;
if(i == MaxCons)

++MaxCons;

1
fclose(fp):
/’q

/*nﬁﬁ Zma=k,
for(i = 0; i ¢ MaxCons; f++)
{

printf(~t\s: ", ConsTable{i]l.cons);
for{j = 0; j < ConsTable{i).num_wora; j++)

printf{(~\s ", Sngram[0]->symbol(ConsTable[i].mora_idx[j]]);
printf("\n");

)
fflush{stdout),

CERUMTAINMTART S

*salloc(s)
-7

char *p, *malloc():

1€((p = malloc(strlen(s) + 1)) == NULL)
fatal_error{“Can't salloc \s.\n", s);

strepy(p, s}/

return{p),;
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SOURCE TEXT

tinclude <stdio.h>

6 | tinclude <sys/file.h>
771 tinclude <math.h:
8 | tinclude “config.h”

9 | tinclude “ngram.h*

21| tdefine MAXGRAM 8

HMOBK

/.
tdefine SSIZE 20

35 tdefine streg(s,t) (*(s)=="(t) b strcomp(s,t)==0)
38| 14f READ_NGRAM_DEBUG
39|
40
4
4 main(argc, argv)
4 int argc;
44} char rargv().;
351 (
46 | register int i, 3.
47 register glist -+gp;
48 | unsigned int n, keta(8);
49 char *egymtbl, tmp[80}, *data(80);
rfS'O_ gtable gramtbl;
52 it(arge < 3)

fatal_error({“Usage: s Symbol-file Ngram-file\n", argv(0});

readngram{argv(2), &sgramtbl),

readsymbol(argv(l), tsymtbl, gramthl,nsymbols).
gramtbl.symbol = symtbl;
sort_symbols(s(gramtbl.symbol)(l), gramtbl.nsymbols-1);
printngram(égramtbl),

}
I} tenait

ICH TIRABTRAMETRUS DB

double delint_prob(ngram, gramtbl, lambda, total, index)
int ngram;

gtable **gramthl;

double +*lambda;

int total;

unsigned int index;
{

register int i;
register glist <gp.
int nsymbols, n, n0, index0, nc, ncO, offset;

double prob, ngramprob;

nsymbols = gramtbl(0)->nsymbols;
prob = lambda[0)/nsymbols;

for(n = ngram; n > 0; n--)
{

ASR— ; .
) .;"'grﬂﬂ!‘r’:‘»?i' DRENT NG
{of(g|v = gramtbl(n-1]->table[HASH({index, gramtbl({n~1l|->tablesize)].
gp != NULL: gp = gp->uext)
{
if(gp->key == index)
break;

)
nc = (gp =~ NULL ? 0 : (int)gp-:prob);

/e
')(n-l)fsrhm F—=PDREAT VB,

if(n == 1)
ncOd = total;
clse
(
index0 = index/nsymbols.
n0 = (index0 =sa 0 ? 0 : n-2);

gp != NULL; gp = gp-’next)
{
if(gp->key == index0}
break;
) .
ncO = (qp == NULL » 0 : (int)gp->prob).
t

,e

e A-aram DARTMAMRETRLEGDES,

nyraaprob = (ncd == 0 » 0.0 : (double)nec/nc0),

120 prob += lambda{n)*ngramprob;

for(gp = gramtbl[nd]->tablelHASH(index0, gramthl(un0)-Stablesize)l,

~¥

U
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1,
(/e
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oy,

XN

'/~( n-l)-gram 5 =% &) graotbl THDA U F 47 20T,
-
for(offset » nsywbols, { = 1; § < n = 1; 1++)
offset *= nsymbols:
index = index \ offsct:

)
return{prob);

FRTF=2RDEFBRDHY

count_samples(gramtbl)
gtable *gramtbl,
{

register int i;
register glist °gp;
int n;

for{n = 0, i = 0; i < gramtbl->nsymbols; i++)
(

for(gp = gramtbl->table[HASH(i, gramtbl->tablesizo)};
gp I= NULL; gp = gp-’next)

if(gp-dkey == i)
n 4= {(int)gp->prob;
]

)
return(n),

A
readngram(fname, gramtbl)
3 | char *fname;
gtable <*gramtbl;
{

rogistor int i;

int fd, index, count = 0, pcount;
unsigned int key;

float prob;

glist “gp:

if((fa = opeu(tname, O_RDONLY)) < 0)
fatal_error(“Can't open is\n", funame),
read(fd, sgramtbl->ngram, sizeof(int)).
read(fd, tgramtbl->unsymbols, sizeof(int)).
read(fd, tgramthbl->tablesize, sizeof(int));
tif DEC_TO_IEEE
long_dec_to_ieeo(tgramtbl->ngram, 1),
long_dec_to_ieec(tgramthl->nsymbols, 1).
long_dec_to_iece(igramtbl->tablesize, 1);

tendit
it o
printf(“ngram = Ad, nsymbols = td, tablesize = td\n"
gramtbl=>ngram, gramtbl->nsymbols, gramtbl- )tnbleslze).
tendit

tf((grantbl->table =
(glist **)malloc(gramtbl->tablesize * sizeof(glist *))) == NULL)
fatal_error("Can‘'t allocate ngram table.\n");
for(i = 0, i < gramtbl->tablesize; i++)
gramtbl->table(i) = NULL:
while(l)

if(read(fd, ¢tindex, sizeof(int)) == 0)
break;
tif DEC_TO_IEEE
long_dec_to_ieee(tindex, 1);
tenait
if{(gp = (glist *)malloc(sizeof(glist))) == NULL)
fatal_error{“Can't allocate glist.\n*);
read(fd, tgp-d>key, sizeof(int)):
read({fd, tgp->prob, sizeof(float)):
t1f DEC_TO_IEEE
long_dec_to_ieee(tgp-dkey, 1);
float_dec_to_icee(sgp->prob, 1);

tendit
gp-’hext = gramtbl->table{index];
gramtbl->table{index) = gp;
+4count;
i1
if(count != 0 44 count \ 1000 == 0)
{
fprintf{stderr, “.”); fflush(stderr);
pcount = count;
}
tendit
tic 1
/*if{count != pcount)*/
(
tprint{(stderr, “\n"});
tendtf

close(fd);
}

/Q
: ‘/‘B’iﬁd)—gﬁi 7740 tuome M LIRALA, sypebl (ZH3T S .
readsymbol( {name, syncul.. sfze)

)_| char *fname, "-s bl;
int size; /8 FEUJ"'H 4
int nsymhbols = 0;
char LUL[SSIZE]., °*p.
FILE “fp:

1f{{*symthl = (char **)malloc{size * sizenf{char *)}) == NULL)

fatal_error("Can't allocate symbol table. (size=\d)\n", size),

strepy(buf, SILENCE);

1f((p = (char *)malloc(strlen(buf)+l)) == NULL)
fatal_error("No memory for symwbol ‘\s'.\n", buf).

strepy(p, bhut):

{*syntbl)(nsymbols+=+} = p;

if(tfp = fopen({f{name, “r")) == NULL)

N
CO

11:43:40 am
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fatal_error(“Can't open is\n", fname);
while(l)
{

if(fgets(butf, sizeof(buf), fp) ws NULL)
break;
if{strlen(buf) == 1)
continue;
buf(strlen(buf}-1) = NULL;
if(buf[0] == *'@*)
continue;
if((p = (char *)malloc(strlen(buf)+l)) == NULL)
fatal_error(”No mewmory for symbol ‘tis‘'.\n“, buf),
strepy(p, buf);
(*symtbl) (nsymbols++] = p;
if(nsymbols > size)
) fatal_error("Too small symbol table size.\n");
fclose(tp),
return({nsymsbols);

a32e Il N XFFIE

| sort_sywbols{symtbl, size)

**symtbl;
size;

register in i, 3. ks
char "t

for{kx = size/2; X > 0; k /= 2)
{
for{i = k; {1 < size; i+4+)
{
for(j = L - x; J >= 0; § == k)
t
if(strlen(symtbl(j])) >= strlen(symtbl(j+k]}))
break;
t = symtbl(j],

symtbl(j] = sywtbl{j+k];
symtbl[j+k] = ¢t;

HEA L

{ntngram({gramtbl)
*gramtbl,

register int i, 3;
register glist -<gp;
unsigned int n, keta(8);
char top(80) .,

for(i = 0; i < gramtbl->tablesize; i++)
(
for(gp = gramtbl->table(i); gp t= NULL; gp = gp->next)
{
for{(n = gp->key, j = gramtbl-dngram - 1; J >= 0; }-=-)

keta{j] = n \ gramtbl->naymbols;
n /= gramtbl->nsymbols;

1
for(tmp{0) = NULL, j = 0; j < gramtbl->ngram; j++)
{

strcat(tmp, gramtbl->symbol[keta{jl)).
strcat(tmp, = *);

}
printf(® t-ld4s -> prob: \f, key: W\n",
tmp, gp->prob, gp->key);
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SOURCE TEXT
‘aTR Interpreting Tolephony Research-Laboratories.
History
» -Ju1—1990 Created by Kenji Kita.
e R R Ay e E e =/
tinclude <stdfo.h>
i | 1include “hash.h"
streq(s, L)X BN LA LAV & )0 9
tdetine streq(s,t) (*(s) == *{t) L& strcmp(s,t) == 0)
N

hashtable *init_hash(size)

int size;

{
register int i;
hashtable *thl.
char *malloc{);

if((tbl = (hashtable *)malloc{sizeof(hashtable))) == NULL)
fatal_error{“Can‘t alloc hashtable.\n"}):

if{(tbl-)entrytable = {entry ==)malloc(sizeof(entry *)*size)) == NULL)
fatal_crror(“Can't alloc entrytable.\n");

for(i = 0; i < size; i++)
tbl->entrytablel(i] = NULL;

thl->siza = size;

return({tbl),

, | search_mora(thl, key, len)
haghtable .

char skey;

ine *len;

{

register entry °p:

for(p = thl=lentrytable(MHASH(key, tbl->size)}; p != NULL; p = p->next)
if(prefix(key, p-’key)})
! *len = strlen(p->key);
) return{p->data);

}
roturn(=~1l).

Ve s Fr =T b bl ATXE
%E%Ll...kev BREBRT J’)')

'0_1 install mora(thl. key, data)
71_| hashtable thl:
72| char key.
73} int data;
t

ey & HiRT
‘data T H M- mratbl TRV TF 7 AT

registor entry ‘p, *q;
entry  ‘new;

char *‘malloc({).

int n;

for(new = tbl->cntrytable|MHASH(key, tbl->size)}; new != NULL; ncw = pew->next)
{

if(streq(key. new-d>key))
hreak;

3
if{new)
{

error(“\s: alrecady exists.\n*, key);
return;

)

if{(new = (entry -)malloc(sizeof(entry))) == NULL)
fatal_error({“No wemory. Can't install is.\n", krey):

Lf((new->key = (char ¢)malloc(strlen(key) + 1)) == NULL)
fatal_error("No memory. Can‘t install is.\n", key):

strcpy(neu-?key, key):

new->data = data;

for(q = NULL, p = tbl->entrytable(n = MHASH(key, thl->size)); p != NULL; p = p->next)
{

L{(strlen(key) >= strlen(p-’key))

i

break;
ol , q9°=p
3 Li(tq)
04 {
1 new-inext = thl->entrytable(n].
3 thi-sentrytable{n] = new,
. i
{ elne
10

new-inext = ¢->next.

q-rnext = new;

2 t
13

H 4.

S _/'

6_ LA a2 R
7T« BHBRTHAL
N8 s
19 prefix(sl, 52)

120 i unsigned char .

60
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while(+s2)

1f(*314+ t» 25244)
return{0),

return(l):

h string(s, n)

register char s,

int
{

o
register int v =0,
while(+s)

v 4 g44y,
return{vinj;




SOURCE PROCRAM

LRctrl.c

DATE

2/21/92

PACE »

S

TIME

:08:12 am

\

SOURCE TEXT

| tinclude <stdio.h>
tinclude “config.h”

7] #1¢ TWO_LEVEL

tincludo “hmmlr.h®

ndef TOTALCELLS

[T 26| tundef LR_STACKSIZE

[T"_277] tundet IN_STACKSIZE
28] tundef G_STACRSIZE

§E tundef KORD_DELIMITER
31 | $define TOTALCELLS 1024
2| 3define LR_STACRSIZE 100

3| 1define IN_STACKSIZE 200
4_| 1define G_STACKSIZE 100
idefine WORD_DELIMITER (-1)

fundef stacktop

| fundef push

.} fundef npop
fundef clratack

fundef instacktop

fundof inpush

fundef clrxinstack

i} fundef gpush

fundof clrgstack

fdefine stacktop{cp) cp->stack[cp->stackptr-1]

fdefine push(n, cp) cp->stack|{cp->stackptr)++) = n
fdefine npop(n, cp) cp-~>stack([(cp~>stackptr -= n))
idefine clrstack(cp) cp~>stackptr = 0

1detine instacktop{cp) cp->instack[cp->instackptr-1)
idefine inpush(an, cp) cp->instack[(cp->instackptr)++] = n
fdafine clrinstack{cp) cp->instackptr = 0

4.1 tdetfine gpush(n, cp) cp->gstack[ (cp->gstackptr)++) = n
tdefine clrgstack{cp) cp->gstackptr = 0

. > & 2 ik
efine streq(s,t) (*(s) =

3 & B
*{t) && strcmp(s,t) == 0)

| oxtern double tbeamhuf,
*beamend,
select_thresh(),

extern double log_henkan;
extern int Nbest.

§| extern Rule *Gtable():
) | extern Action +*Atablef().:

| | extern int topcat().;

int s_globalbean,

5_localbean;
int phrase_no;
int Nbest2;

/.
typedef struct Scell
{

int stack [LR_STACKSI2E];
char stackptr;

int instack [IN_STACKSIZE):
unsigned char instackptr;
int gstack [G_STACKRSIZE] .

char gstackptr,
double score; /< XDRIAT /

struct Scell *next;
} Scell;

Scell *s_cellstare,
*s_cellend,
*s_celltop,
*s_newcelltop,
*s_fLreecellp,
*5_acceptedcellp,
*s_localcellp;

| /a

2RMLRDA L o N—F

A

| LReerl_main((p)

FILE fps

{
s_globalbeanm = globalbean;
s_localbeam = localbeaw;
Nbest2 = Nbest ¢+ 2,

s_init_cell().
while(l)
{

if(LRctrl({p) == EOF)
break.
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register int i, 3;
register Scell -<cp, *cpp, *newcp;

register Action +ap;

int state, newstate, action, count, offs, other_action, =, at,
char buf[BUFSIZ);

Scell *s5_getcopy().

register Cell *cp2;
register Action +ap2;
int prediction;
Cell *getcopyl();

phrase_no = 0;
st = TRUE,
s_reiniteell();
while(l)

{

i3 VR
While(s_celltop)
{

cp = s_celltop;
s_celltop = s_celltop->next;
other_action = 0;
state = gtacktop(cp):
for(ap = Atable(state); ap t= NULL; ap = ap->next)
{
action = ap->action;
11(ISACCEPT(action) || IssHIFT(action))
other_action++;
else {f(ISREDUCE(action))
{
newcp = S_getcopy(cp).
m = Gtable[REDUCE(action)])=->length;
apop(m, newcp),
newstate = GotoState(Atable, stacktop(newcp),
Gtable[REDUCE{action)]->1hs)
push({newstate, naewep);
if(instacktop({nowcp) != WORD_DELIMITER)
inpush(WORD_DELIMITER, newcp),
if(newcp->instackptr >= IN_STACKSIZE)
§

error(”"LRctrl: Imput stack overflow\n"),
return;

)
gpush(REDUCE(action), newcp):
newcp->next = s_celltop.
s_celltop = newcp;

}

)
if(other_action)
(

cp-d>next = s_newcelltop;
s_newceolltop = Cp;
}
else
{
cp->next = s_freecellp,
s_freecellp = cp;
L
s_beam_search(iss_celltop, s_globalbeam, °*R'),

s_celltop = s_newcelltop:

s_newcelltop = NULL;
s_beam_search(ts_celltop, s_globalbeam, 'R®);
count = 0;

if{st == FALSE) fatal_error("shift error.\n");

o e
st = Read_tuzzy(fp);
Lf{st == EOF) goto end;
if(st == TRUE)

(

++phrase_no;
cal_frame_prob().
reiniteell().,
clear_topeat(),

?

prediction = 0;
tor{cp = s_celltop; cp '= NULL; cp = cp->next)
[
olls = 0;
s_localcellp = NULL;
state = stacktop{cp);
tor{ap = Atable{state]; ap != NULL; ap = ap->next}
{

action = ap-raction;
7
- EpEE,
LE(1SACCEPT(action))
if{st == FALSE)
{
newcp = S_getcopy(cp).
newcp->next = s_acceptedcellp;
5_acceptedcellp = newcp;
H
]
7
C o BEHIE,
A

else LE(ISSHIFT(action})

SOURCE PROGRAM DATE 2/21/92 | paces
LRctrl.c TIME  717:08:12 am

A SOURCE TEXT

BRTHIDTHHEWHBRHAL LW
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SOURCE PROCRAM

LRctrl.c

DATE

2/21/92

TIME

11:08:12 am

PACE &

il TR

SOURCE TEXT

1£¢st == TRUE)
]

sprintf(buf, “<1s>", SymbolTable[ap->input]}):
topcat(HashSymbol(buf)) = 1;
++prediction;

|
BIAIS!
\

}

if(st == TRUE &4 prediction)
(

L i

WY
i

XBRWETL

)

<8

hmalr();

g |
g Thlle(s_celltop)
O
261 ] cp = s_celltop;
262 | s_celltop = s_celltop-dnext;
__ 263 offs = 0;
ggi’ state = stacktop(cp).

for({ap = Atable[state]; ap != NULL; ap = ap->next)
{

action = ap->action;
{f(IsSHIFT(action))

fox(i = 0, cp2 = acceptedcellp:
1 ¢ Nbest2 it cp2 t= NULL; cp2 = cp2-d>next, 1i++4)
{

sprintf(buf, "<is>*, SymbolTable(ap->input}).
if(HashSymbol (buf) == cp2->topcat)
{

newcp = s_getcopy(cp)s
for(j = 0; J < cp2=->instackptr; j++)
inpush(cp2->instack[j], newcp):

newcp->score

+= (double)cp2-d>bestprob * log_henkan;
newstate = SHIFT(action).

push(newstate, nowcp):
newcp->next = s_localcellp;
s_localcellp = newcps
+toffs;

}
b
if(ofts)

if{offs > s_localbcam)
s_beam_search(ss_localcellp, s_localbeam, °‘L');

for{cpp = s_localcellp; cpp->next !e NULL; cpp = cpp->next)
++count;
++count;
cpp->next = s_newcelltop;
$_newcelltop = s_localcellp,
§_localcellp = NULL;
1
cp-d>next = s_freecellp;
s_freecellp = cp;
H
}
s_celltop = s_newcelltop;
s_newcelltop = NULL,

if(count == 0)
break;

if(count > s_globalbeam)

s_beam_search(ts_celltop, s_globalbeam, 'G');

end:

if(st == EOF)
return(EOF) ;
7Y

RBRDFRF =2 H5D
if(st == TRUE)
[

while(gatc{fp) = *1')
while(getc(fp) !~ *\n')
)

s_rm_dupl(ss_acceptedcellp),

Printf( S0t ettaaad st e ser e onaaasassinasestnaiatrenninidestonn~);
if('s_acceptedcallp || st == TRUE) printf(* NO RECOGNITION CANDIDATES.\n");
showv_scells(ts5_acceptedcellp, Nbest2).

printt( HHIIHHIIHH-HHHIHHHIIIIllHlINHNIIHHHHIHHH\n\n )i
fflush(stdout);

return({TRUE),

)

71 /e
U XDRBBRKE eax @ WHL

show_scells(top, max})

Scell **top;

int max;

t

register int i, 3.
Scell *cp;

s_sortcell(top),
for(cp = *top, i = 0, cp != NULL, cp = cp- next, i++)
{

if{i ¥= wax)

break,
printf(=t3dd: ", i + 1),
shoyr_cell{cp),
printf(~ (score = \[()}", cp->score),
printf{~\n"j);
fLlush({stdout),




SOURCE PROCRAM

DATE

2/21/92

TIME

PACE #

| LRctrl.c

SOURCE TEXT

364 | scell

w
%0 coloal
)

!
ool col
)

|
EEEEH

NN

U W,
2|

}
s_reinitcell()
{

(=
1

)
)
)

h'nnh!nhAA'n ala

Scell
{

oy 'll'glr“’!;" “la‘l"g L o

'5:‘;;-

()

M9

W,

Scell

Scell

(LS
-

e
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i

N

W

Ty

A!A'hlh p.!J LA Jn Malnis n|n; Iy p.lJJ». alalaialal Juln

4587| 5_cc()
t

start:

479} scell
4 {

363 show_cell(cp)

*cp;

register int i;
char buf (BUFSIZ),

buf(0) = NULL:

if(cp->instackptr == 0)
strcat(buf, "[Emptyl”).

else

{

for(i = 0; L ¢ cp-linstackptr; i++)
(
if(f + 1 == cp-dinstackptr)
break;
ff(cp->instack(i) == WORD_DELIMITER)
strcat(buf, *-=);
alse

if(streq(SymholTablefcp->instack(i}]), *vi®))
strcat{buf, =i=),

else if(streq(SymbolTable[cp->instack(i]]), “Uu*))
strcat{buf, *u*);

else
strcat(buf, SymbolTablel[cp->instack{i])});

)
}
printf("\-35s", buf),

—3957 5 inte_cer1()

char *calloc( )/

if{(s_cellstart = (Scclle*)calloc(totalcells, sizeof(Scell))) == NULL)
fatal_errox(“No memory for cells.\n"};

register int i;
register Scell +p;
Scell *s_getcell(),

s_cellend = s_cellstart + totalcells;

for(p = s_cellstart; p ¢ s_cellend - 1l; p++)
p->next = p + 1;

p->next = NULL;

s_freecellp = s_cellstart;
s_newcelltop = NULL;
8_acceptedcellp = NULL;

s_celltop = s_getcell(),
&5_celltop->score = 0.0,
S_celltop-d>next = NULL;
clrstack(s_celltop)s
clrinstack(s_celltop),
clrgstack(s_celltop),

push{0, s_celltop),

*s_getcell()
Scell pi

if(s_freecellp == NULL)
$_GC(),

P = s_freecellp;

s_frcecellp = s5_freeccellp->next;

return(p).

*s_getcopy(p)
pr

register int i,
Scell +q:

if(s_freecellp == KULL)
s_GC();
q = s_freecellp;
s_freecellp = s_froccellp-inext,

beopy((char *)p, (char *)q, sizeof(Scell)).
return{q).

int beam;
beam = s_globalbeam;

s_heam_search{ts_newcelltop, beam, *G*});
if(!s_freecellp)
[
s_beam_scarch{&s_acceptedcellp, Nbest2, ‘G');
if(s_troecellp == NULL)
h ¢
~~boan;
if('hoam)
fatal_error(“Scell exhausted.\n"):
gotc start.

4787 s_rm_dupl(top)

*stop.,
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SOURCE PROCRAM DATE 2/21/92 PACE #
LRctrI C THE  11:08:12 am S

]

SOURCE TEXT

register int i,
register Scell +p, *q, °*r, *cp;
int ok;

for{(cp = NULL, p = *top; p != NULL; )
{

r=p;
p = p-dnext;
ok = 1,

for(q = cp; q != NULL; q = g-Jnext)
{
if(r->instackptr t= g->instackptr)
continue;
for(i = 0; 1 < r=>instackptr; i++)

if(r->instack([i) 1= g->instack(i])
break;

}
f£({i == r->instackptr)
[

ok = 0,
braak;
I ER )
04 )
Ak if(tok)
506 | t
07, g->gcore = (r->score ¢ g->score ? r->score : g->score);
508 | r->next = s_freecellp;
-ﬂg s_freccellp = r;
219 ] }
STl else
SI2] 1
— 513 r=dnoxt = cp;
514 cp = r;
—s15. )
6] }
/. *top = cp;
}
§_sortcell(cell)

Scell **ceall,

(
tdefine insert(cp, first, last)
{ if(1first) first = cp;
else last->next = cp;
last = cp; |

P

Scell *cp = *cell, *lowf, *lowl, *midf, *midl, *highf, *highl;

NNV
O

L —-2
530 if(cp == NULL)
—S31_| return;
>32_| lowf = midf = highf = NULL,
533 | insert(cp, midf, midl),
3; for(cp = cp-dnext; cp I= NULL; cp = cp-dnext)
535! {
— 536 ] if(cp->score ¢ midf->gcore)
937 ] insert(cp, lowf, lowl)
538 | else if(cp->score == midf->score)
53 insert(cp, midf, midl)
4 else
__34 insert(cp, highf, highl)
4 1
4 if(lowf t= NULL)
4 {

lowl->next = NULL;
s_sortcell(slowt);
for(cp = lowf; cp->next != NULL; cp = cp-dnext)

[ 141
; FAFARARAS
u:loopl.m v!laiwlrvi— O\0,

7
cp->next = miadf;
cp = lowf;

1
else

cp = midag;

if(highf t= NULL)
highl->noxt = NULL,

s_gortcell(shight),

widl~->next = hight,

*cell = cp:

fﬁ.!ﬁ#ﬁﬁl_ﬂ#‘{ t A
| it
3 s_beam_search( top, beam, cc)
| Scell vrtops

beuw 7

int beain;
) 1 int [-1-F}
{
register tnt n;

register double +d;
register Scell scp, °*p. *q.
double thresh;

if{t*top) return;
for(n = 0, @ = beambuf, cp = *top; cp !'= NULL; Cp = Cp->next, n++)
[

*d++ = cp-)>score:

if(d > beamend)

break;

14
thresh = select_thresh{hecambuf, n, beam);
for(cp = NULL, p = *top. p '= NULL, )
{

q = P/

p = p->next;

if{(q->score * thresh)

(

g=>next = s_freecellp,
s_freeccllp » q:

g->pncxt = cp,
cp = q.

}
“top = cp:
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SOURCE PROCRAM

LRctrl.c

DATE

TIME

:_:m < ’s
rﬂﬁ :ggggtgpi:nt Iﬁnhki) ;gky Ok

) | clear_topcat()
t

register int i,

for(i = 0; 1 < MAXSYMBOLS; i++)
topcat(i) = 0,

HMERATOWERESH

/
predicted(pcat)
int *pcat;
{

register int p;
if(pcat == NULL)
fatal_crror(“"No prediction.\n");
for{p = pcat; °*p t= -1; p++)
{

if(topcat(*p] == 1)
roturn(l),

|
return(0).;

ielse

g: LRctrl_main(){]
3771 tenait

ATIVERIBT S,

11:08:12 am




SOURCE PROGRAM
int_op.c

Ty AR

2/21/92 | PACE®
11:43:13

am

SOURCE TEXT

2.0t

BELRTOAMWEIS:
Qaﬂm&xzniqwghuvtoumua;

‘EdLE nistery

29:3Un-1991," Created; by Fond [ K1¢a"

6| 1include <stdio.h>
7 | 1include “config.h*
tinclude "LR.h"

20| 14f THO_LEVEL

2
22 ] 1define END (-1)
23
24 o
25 18027470
26+ SymbolTable
27157,
28} ReadCat(fp, ptr)
29} FILE *fp;
30 1 int septr;
{
char but(BUFSIZ]),
s «ptr = NULL; .
'!6_ while(fscanf(fp, “\s", buf) t= EOF)
LR {
%_ int_add(HashSymbol{buf), ptr);
. )
—39.1 1
40
—
42 B AV S e s B
A 3
44 | printCat(fp, ptr)
45 ] FILE “{p;
.46} int *ptr;
3771 {
48 register int *ps
if(iptr)
return;

tprintf(tp, " [ “);
for(p = ptr; *p I= END; p++)
[

fprintf(fp, “\s*, SymbolTable[<*pl);
1f(*(p+l) 1= END) .
tprintt(fp, * “);

1
fprintf(tp, * 1 *),

.64/ o
65| int_union(ptr, ptr2)
_gg‘ int eptr, *ptr2;
57t
gg_ register int "ps
70 if(1ptr2)
71 return;
72] for(p = ptr2; *p != END; p++)
73] int_add(-p, ptr):

,}! MR pe B n 2B

nt_aad(n, ptr)

int n, *eptr;
t

register int ‘P, "9,

int *ptr2, size;

size = 0;

if(ptr)

[

for(p = *ptr; °p 1= END; p++, ++size)
if(*p == n)
return;

}

}

if((ptr2 = (int *)malloc({(size+2) * sizcof(int))) == NULL)
return{(NULL);

q = ptr2;

it(ptn)

{
for(p = sptr; *p != END; p++, q++)

‘q = °P;

1

qee = on;

¢ = END;

if(-ptr)
f{ree((char *)+ptr),

*ptr = ptr2;

!

/e
.'/ﬁl‘lﬁﬁ.ﬂl ptr DR W n H I Ao TVENERE,

int_exist(n, ptr)
int n, *ptr;
{
register int P

if(1ptr)

return(0).
for(p = ptr; *p != END; p++)
i




SOURCE PROCRAM
int_op.c

DATE

2/21/92

TIME

11:43:13 am

SOURCE TEXT

{

)

| 1else

67 | tenaif

. if(*p == ny
£, return{l),
-y }
124 return{0).
2570
¥ . ‘
MLV BHREBEM L ED)
N} *int_copy(ptr)
_____32_ int sptr;
34t
34 register int P, *qs
____3?_ int *ptr2, size;
137 if(tptr)
138 | return(NULL);
139 size = 0;
for(p = ptr; *p != END; pt+)
++size;
if((ptx2 = (int v)malloc((size+l) * sizeof{int))) == NULL)
return{NULL);
for(p = ptr, q = ptr2; *p 1= END; *q++ = *p++)
i
*q = END;
return({ptr2);
int_print(ptr)
int ptr;

register int *P;

for(p = ptr; =p t= END; p++)
printf(*\a ", *p);
printf("\n"),

65| int_op_dummy(){}
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SOURCE PROGRAM

DATE

2/21/92

11:40:28 am

PACE #

TIME

SOURCE TEXT

Jinclude “contig.h"
tinclude *imhumn.h*
tinclude “idur.h*
tinclude “log.h"

tdefine MIN( x, Yy ) {y) )

Cf(x) € (y) ) ? (x) :
idetine MAX( X, Y ) CCUx) € Uy) ) 2 (y) = (x) )
extern int *Alphal}, NormProb();

cal_iprob{ hmm, dur, prob, startl, endl, start2, end2 )

IMHMM *huxen;
IDUR *dur;

int *prob, startl, endl, start2, end2;
{
int i, 3, 33, X, tx, final;
int ax, rarc, index, roop_prob;
| 14£ 0

printf{ “startl= id endl= 1d start2= \d end2= \d\n",
startl, endl, start2, end2 ),

fflush(stdout),;
J tendit

for{ i = 0; i < hnm-d>num_states; i++ ) .
for{ J = 0; J <= end2; j++ ) Alpha[i}(j} = MIN_INT;

rarc = hmm->states[0).rarc;

tif DURATION_CONTROL
if{ rarc == NO_ROOP )

fenaif

for{ 1 = 0, J = startl; j <= endl, i++, j++ ) Alpha{0)[i} = prob(j);

11f DURATION_CONTROL
else
{
index = hmn->transitions(rarc).out_prob_index;
roop_prob = hmm->transitions(rarc).trans_prob;

for( i = 0, 3 = startl; j <= endl; i++, jJ++ )

if{ prob[j) <= MIN_INT ) continue;

ax = prob(jl;
for( 33 = j+1; 33 <= J 4 Aur->durminl[0); J5++ )

ax += { *(hmm->freme_prob{index)+jj~1) + roop_prob });
if( ax <= MIN_INT ) continue;
tx = MIN({ end2, j+dur->durmax(0} );

for{ 3j = j+dur->durmin[0), k = i+dur->durmin(0]);
33 ¢= tx; 33+, kst )

(
tif TRELLIS
Alpha[0][k] = addlog{ Alpha(0](k],
ax + dur=->durprob[0)(k-1i]) );
telse
Alpha(0] [x] = MAX{ Alpha(0}(k],
ax + dur->durprob(0](k-i} };

| lendif

ax += ( <{hmm->frame_prob[index]+Jjj) + roop_prob ),

}
{enait

$if DURATION_CONTROL

cal_ialpha_adm( hmm, dur, startl, end2 );
telse

cal_ialpha_m( hmm, dur, startl, end2 ).

'y

i

© 10 N OV i —

tendif

final = hmm-d>num_states - 1;
for{ i = start2-startl, j = start2; j <= end2; i++, j++ )
prob(j} = Alphalfinal](i};

best_iprob( dur, stark, end, prob, thre, bestprob, bestframe )
IDUR *dur;
1 int start, end, “bestframe;
int *prob, thre, “bestprob;
(
int i, px, haba, habal, haba2, sO, ¢0;
double rint( ), lenx;

1i£ 0
printf{( ~startl= id endd= \d\n*, <start, *end ),
fflush(stdout),

lendif

if( (start=c0) +s (end==0) )
i

sbestprol> = prob(0]. *bestframe = 0;
1f( *bestprodb > thre ) return{ 1 );
else return{ 0 ),

t

*bestprob = MIN_INT;
for( 1 = start; i <= end; i++ )

{
tift o
printf{( “prob(tid]=id\n", i, prob[i] ); fflush{ stdout );
fendif
NorwProh(i]) = (ist)rine( (doublejprobli} / (double)i ).
if( NormProb(i] > *bestprob ) [ *bestprob = NormProb(i]; *bestframe = i; }
1

if{ °hestprob ! thre ) return( 1 );
clse return{ 0 );

i

$if DURATION_CONTROL
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SOURCE PROCRAM

DATE

2/21/92

TIME

PACE #

calidm.c

11:40:28 am

SOURCE TEXT

i tif TRELLIS

cal_falpha_dm{ hmm, dur, start, end )
IMHMM *hmm;
IDUR *dur;

int start, end;
(
register *stop, *cptr;
register 1, 5, 33. %, 1, s;
struct transition stptr;
int out_prob, trans_prob, roop_prob;
int ax, rar¢, index, tx;

for( s = 1l; s < hmm=>num_states; s++ )

{
stop = &{ h.m.m-)st.ntesls].uans_to(hnm—)stateslsl.uum_tol ):
for{ i = 0, J = start; j <= end; i++, j++ )
{

ax = MIN_INT;
for{ cptr = 4{ himm->states[s].trans_to[0] ). cptr & stop; cptr++ )

tptr = t{hmm->transitions(-cptr]);
if{ tptr->origin == s } continue;

else if{ tptr-d>out_prob_index == NULL_TRANSITION )

| $if TRELLIS

ax = addlog( ax, Alpha|tptr-dorigin](i}
+ tptr->trans_prob ):

telse
ax = MAX{ ax, Alphaltptr->origin](i]
+ tptr->trans_prob );
fendif
else if{ i I= 0 )
(
out_prob = * {hmm-> frame_prob| tptr->out_prob_index) + j~1 ):
tif TRELLIS
ax = addlog{ ax, Alpha(tptr-dorigin])(i-1]
+ tptr->trans_prob + out_prob );
telse
ax = MAX{ ax, Alpha[tptr->origin][i-1]
+ tptr->trans_prob + out_prob };
tendif

}
if( ax <= MIN_INT ) continue;

rarc = hmp->states[s].rarc;
if( rarc == NO_ROOP )

Alpha(s)[i] = ax; continue;

index = hmm->transitions(rarc).out_prob_index;
roop_prob = hmm->transitions(rarc).trans_prob;

tx = MIN( end, j+dur->durmin(s] ):
tor{ 33 = j+1; 33 <= tx; ji++ )
ax += { =(hmm->frame_prob(index])+jj-1) + roop_prob );

tx = MIN({ emnd, j+dur—>durma;:[sl ):
for{ jj = j+dur->durmin(s], x = i+dur->durmin[s];
3 <= £x; 33+, ktt )

4
#it TRELLIS
alpha{s)[k] = addlog{ Alpha(s])ik], .
ax + dur->durprob(s]{k-i] ).

'l telse

Alpha(s){x) = MAX( Alpha(s])(k),
ax + dur->durprob[s]{kx-i} ),
jendif
ax += { =(hmw->frame_proh[index])+jj) + roop_prob );
}
1
}
telse

1 cal_ialpha_m( hmm, dur, start, end )
IMHMM  *hmm;
IDUR *dur;

S.|int start, end;
t
register tstop, *cptr;
register i, 3, s;
struct traasition *tptr;
int prev_alphal, out_prob;
int q, orig, dest, trans_prob;

for{ i = 0, j = start; j <= end; i++, j++ )
{

for{ s = 0; s ¢ hmm->num_states; s++ )

{

if¢ i == 0 &4 hmn->states(s].is_initial ) continue;

stop = +( hmm=-)>states[s).trans_to[hmm->states[s].nun_to] };
for( cptr = &({ hmm->states[s].trans_to[0] ), cptr ¢ Stop,; cptr++ )
{

tptr = {(hom->transitions[*cptr}).
trans_prob = tptr->trans_pxob;

if( tptr->out_prob_index == NULL_TRANSITION )
{

prev_alphal = Alpha(tptx-sorigin](i}:
irf( prev_alphal > MIN_INT )

Alphals) i} = addlog{{prev_alphal-trans_prob), Alphal(s]l(i));
telsc
Alpha|s) i} = MAX({prev_alphalstrans_prob), Alpha{s)(il):
tendif
}
else tf( i = 0 )
{

prev_alphal = Alpha(tptr-roriginjfi-l]).
1¢( prev_alphal > MIN_INT )}
t

out_prob = ~(hmm->framwe_prob|tptr->out_prob_index] + j-1 ).

-
71




SOURCE PROCRAM DATE 2/21/92

calidm.c TME  11:40:28 a

PACE #

© e

SOURCE TEXT

7| 142 TRELLIS

_| lelse

fendif

)
tendit

if{ out_prob > MIN_INT )

Alpha(s)[i) = addlog( (prev_alphal+trans_prob+out_prob),
Alphals)ii] ):

Alpha(s)[i]) = MAX{ (prev_alphali+trans_prob+out_prob),
Alpha(s)ii] ),

~1
o2
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DATE

2/21/92

TIME
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e T

LINE # SOURCE TEXT
11z TRme e =

2t , -

z__ Initialization ~n-:read: EMM models; ote:

5] Edit by’ K.Kits o T.Habozowa.
5] /ATR ‘Interpreting. Telephony. Researchilsboratories.:

{define

tdefine

HMM_MAIN

2.} tinclude <stdio.h>
tinclude “config.h"
4} tinclude "hmmlr.h"
tinclude "log.h"

*/i£g1/MAU-TH/HMM/11i8t"

LOGFILE */1fg1/logtbl/10g. tbl~

311
2| $define HASHSIZE 101
tdefine streq(s,t) (*(s)®=*(t) Lt stxcmp(s,t)==0)
4
int *Alpha[MAX_STATES);
6 | static Entry *EntryTable[HASHSIZE]),;
33‘;_ s:attc ihu *Phonemes(128),
3 | static int nun_model,;
397
: init_HMM()
{
register int i, nphones = 0,
43 char buf[80}, modelfile(80), durfile(MAX_NUM_DUR](80):
44 char phono(17), *malloc()s
45 | Entry *ep, *lookup{),
46 | FILE «fp, *fph, *fopen();
47 double (floor0 = 1.0e-6, floor(MAX_CODEBOOK],
48 | double sigma_model, sigma_state, dur_weight;

int bum_dur;
double durminQ, durmaxQ;

char histtile(80);

int num_hist, histsize,
float *hist(MAX_CODEBOOK);
int *code[MAX_CODEBOOK) ;

sigma_model = Sigms_model;
sigma_state = Sigma_statoe;
dur_weight = Dur_weight;

if{ Hmmlist(0) == NULL ) strepy( Hmmlist, PHONELIST ),
if{ Logtable(0] == NULL ) strcpy( Logtable, LOGFILE });

printf( * Hom-> Vs\n", Humlist ),

printf( " ModelDuration-> Sigma: V}.1f\n", sigma_model ).

printf{ * StateDuratiom-> Sigma: %3.1f (*\3,.1f) Welght: VS.2f\n\n",
sigma_state, Nsd, dur_weight )

if( Histlist(0] != NULL )
printf( = Histlist-> Vs Top: \d\n", Histlist, Tophist ).
£flush(stdout),;

fph = fopen( Histlist, "r* ),

if( fph == NULL )

(
fprintf( stderr, "can't open \s\n", Histlist ),
printf{ “"can‘'t open \s\n", liistlist ).
oxit(l);

4

fscanf( fph, "\d", ‘num_hist });

for( i = 0; 1 ¢ num_hist; i++ )

{
fscanf( fph, “\is \d~, histfile, thistsize ).
printf( * ts \d\n", histfile, histsize ); fflush{stdout);
get_hist( histfile, Tophist, histsize, thist{i), tcodel[i] );

)
fclose(tph):
printf{ "\n" ); rflush{stdout);
o
.initialize EntryTable
for{ i = 0. i < HASHSIZE; i++ ) EntryTable[i] = NULL:

% Allocate fuzzy-data areca.

for(i = 0; i ¢ MAX_CODEBOOK. i+4)

{

Fdata(il.code =
(unsignex! char®)malloc( MAXFRAME * MAX_FUZZY
+ sizeof(unsigned char)
if( Fdata(i].code == NULL )
{ printf( “"can't allocate fuzzy-code\n" },; exit(l); }

Fdata(il.m = (floatv)malloc( MAXFRAME * MAX_FUZZY
* sizeof(float) ),
ir{ Fdata{i].m== NULL )
{ printf( “can't allocate fuzzy-m\n" ), exit(l}: }

)i
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lnlt__adapt-c TIME 11:43:08 am
SOURCE TEXT
120 |
122
| _2_} “Allocate working:arca.
L2 ] 54
__g%_ 8lloc_ibuf{ MAXFRAME+l, MAX_STATES ).
127
128 ]
129, |
130 |
31
|32 ] N
| ,g}_. duration.
4
:3_6‘{“ for(i = 0; i < MAX_CODEBOOK; i++) fleor(i) = floord;
3
137 if((fp = fopen({ Hmmlist , "r™)) == NULL}
1381 fatal_errox(“"Cannot open Vs.\n", Hmmlist );
39
40| num_model = 0;
4 whilo(l)
4¢ {
43 if(fgets(buf, sizeof(buf), fp) == NULL)
44 break;
45 if(strlen(buf) == 1 || buf(0) == *y*)
46} continue;
7_) if( sscanf(buf, “ts Vs \d", modelfile, phone, tnum_dur) t= 3 )
148 fatal_erroxr(“"trror in \s.\n", Homlist );
42‘ for( i = 0; i < pum_dur; i++ ) fscanf{fp, “ts*, durfileli) ),
4 lookup({phone) t= NULL)
2 {
6| error{“Phone °'As' alrecady exists. Skip loading...\n", phona);
contioue;
}
uctura s
if((ep = (Entry+)malloc(sizcof(Entry))) == NULL)
goto NoNemory:
if((cp->phone = (char*)malloc(strlen(phone)+l}) == NULL)
goto NoMemory:
strcpy(ep~>phone, phone).;
if({(ep->model = (IMHMM®*)malloc(sizcof(IMHMM))} == NULL)

oto NoMemory:
for( 4 = 0; 1 < nuw_dur; i++ )
if((ep->duration{i} = (IDUR*)malloc{sizeof(IDUR))) == NULL)
goto NoMemory;

- 724pE £ g HEAE1L,
__73. fprintf(stderr, > boading is\n", modelfile );
179 | £f1lush(stderr);
_:g;o_ read_imbhmm} (modelfile, floor, cp->wodel ); nwz_model++;
1
_-gg_
1 ‘— Ve den - ’
| 1 -(55- for( i = 0; i < cp->model~>num_omatrix; i++ )
{

__187 | ep->model-)frame_prob(i)
188 | = (inte)malloc{ MAXFRAME * sizeof(int) ),
] _g_ if( ep->model->frame_prob(i] == NULL )
LR {
! fprintf( stderr, “can't alloctate frame_prob\n" },
printf( "can't alloctate frawe_prob\n" );
— o exit(l),

1€( Ristlist{0} t= NULL )

if( oum_hist = ep->model->num_book )

printf( “"num_hist(ld) != hma(\id)\n",
num_hist, ep->model->num_hook )
exit(l).,

for( i = 0; i < num_hist; i++ )

adapt_hmn({ ep->wodel, i, floor(i],
Tophist, hist(i], codeli) ).

rint: mhmn(. ep->model '), ¢/

)
7+ tprintf(‘stderr; "Ok\n").z*/

',"
. Read;duration.

Tfor( i = 0; i < num_dur; i++ )
{

/*fprintt(stderr, “-> Loadiug ts...*, durfile(i) )s*/
fprintf(stderr, "-> Loading ts\u", durtileli] ).
fflush(stderr).
read_idur( durtile(li], siqm\ model,

sigma_state, ep->durationlil ).
pow_idur( ep-)dur.\uon[i). dur _weight ).
Ptyrint!(stderr. =ok\n"),

ep->nwa_dur = num_dur;

* Installientry structure.
install(ep):
Phonemes(nphones] = ep->phone,
++nphones;
b
Phonemes(nphones] = NULL:
felose(fp) .,
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SOURCE TEXT

— 3301 FILE
{

329 | Read_Fuzzy( fp )

if( Histllst[0) != NULL )
for{ 1 = 0; 1 < num_hist; 1++ )
free( hist{i} ). free{ code[i} };
}

return({nphones);

NoMemozry:

fatal_error(“Cannot allocate memory for phone °*\s’'\n", phone);

2577 unsigned hasu(phone)
— 2581 char *phone;
259 1 (
register unsigned val;

for( val= 0, *phone != NULL;
val += (unsigned)ephone++;
return( valMHASHSIZE ),

Entry  *lookup{phone)
char *phone;
{
register Entry -p;
unsigned hash{);
for(p = EntryTable(hash(phone)}; p t= NULL; p = p~>next)
if(strcmp(phone, p~>phone) == 0)
return(p);
)]
return{NULL),;
)
284 | install(ep)
285 | Entry  vep:
286 | {
287 Entry  +ep2, *lookup(}.;
288 | unsigned val, hash{);
289 | char *malloc();
290 |
_Z.g_é_ 1f((ep2 = lookup(ep->phone)) t= NULL)
—e2L | (
293 | error(“Already exists entry 'As'\n“, ep->phone}):
94 return(FALSE),
295 )
296 val = hash(ep->phone);
297 ep->next = EntryTable(val);
2 EntryTable(val]) = ep;
299 | return(TRUE)
...300.§
3
3021
3031 cbeckPhonene(s)
304 char *s;
305
:'g%g: register int i;
307 _| int ok = 0,
—30¢]
3 g for(i = 0; Phonemes([i]) != NULL; i++)
310§ {
3 5« if(strcop(s, Phonemes(i]) == 0)
- {
1EN ++ok;
314 break;
315 )
—3 )
3| if¢tok)
if(streg({s, “ch") streq(s, "ts") streq(s, "p")
streg(s, “t") streq(s, "x") streqg(s, "b")
streq(s, "a") streq(s, “g") streq(s, "gy"}))
return(TRUE) ;
return(FALSE);
)
3251 return({TRUE);
3261 }
327 ]
328

/% ninor modification by kita, 07-Mar<1990 </
“fp;
int st, id, fd, start, end, size, i, j., k, 1x, num_dat, c;
char input(120);
char buf {BUFSI2}, iname(80}, datafile{MAX_CODEBOOK] [0}
double sp, ep, sp2, ep2, period;

if{fgets(buf, sizeof(buf), fp) == NULL)
return(EOF) .

Lf(buf(0) == *§°)
return(FALSE)

sscanf( buf, "td is td ts \1f G1f",
tid, iname, &¢num_dat, input, tsp, hep ),

for( i = 0, i ¢ num_dat; i++ )
{

if( fscanf( fp, "Vs\n", datafile(i] )} t= 1 )

{

printf( "Error in labelfile\n" ), exit{l);

t
sp2 = sp - Add_Time;
ep2 = ep + Add_Time;
period = Frame_Period / (double)Mabiki.

start = (int){ sp2 / period ),
end = (int)( ep2 / period ),

~1

4 |
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AR

SOURCE TEXT

Reéad data=£116}

/.
for{ 4 = 0, 1 < num_dat; i++ )
read_fdata{ datafile(i], start, end, tFdata(i]) ).

N_frames = Fdata{0).length;
printf(”(%03d) Vs A7.17 2.1t Ivs| a frames\n*, 1d, iname, sp2, op2, input, N_frames);
fflush(stdout),

2O .
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return({TRUE);

read_fdata({ fn, bgn, end, fdata )
char *fn;

int bgn, end;

FDATA *fdata;

{

int i, 3, ptr, rb, rbi, rbf, size_l, size_c, size_m, fd, leng;
long offsetd, offsetl,

fd = open{ fn, 0 );
1f( fd == =1 ) { printf( “can‘'t open \s\n", fn ); exit(l); }

rbi = sizeof(int); rbf = sizeof(float);

read( fd, s(fdata->fuzziness), rbf ),
read( fd, t(fdata->num_fuzzy), rbi ),
read( fd, t(fdata-’>length), bi ),

1if DEC_TO_IEEE
float_dec_to_ieee( ¢(fdata->fuzziness), 1 );
long_dec_to_ieee( &(fdata->num_fuzzy), 1 );
long_dec_to_ieee( t(fdata->length), 1 );

iendif

it o0
printf( " fuzziness--> %3.,1f\n", fdata->fuzziness ).
printf( “ oum_fuzzy--> td\n", fdata->num_fuzzy ),
printf( * length--—-—— > \d\n", fdata->length ),
printf( * bgn{td) end(%d)\n*, bgn, end };

tenait .

size_l = fdata->num_fuzzy * ( sizeof(unsigned char) + sizaof(float) ),
offset0 = (long)( size_l * bgn );
1£( lseek( fd, offset0, 1 ) < 0 ) { printf( “can't lseeckO\n" ); exit(l); )

size_c = fdata-d>pum_fuzzy * sizceof(unsigned char),
size_m = fdata->num_fuzzy * sizeof(float);

ptr = 0; leng = 0,
offsetl = (long)( size_l * (Mabiki-1) ).,
for( 1 = bgn; i <= end; i+= Mabiki )
(
rb = read( fd, (fdata->code)+ptr, size_c ),
if( b 1= size ¢ )
{ printf( “erxrorl: rb(\ad) t= gize_c(Vd)\n", rb, size_c ), exit(l); )

b = read( fd, (fdata->m)+ptr, size_m ),
if( b 1= size_m
{ printf( “error2: rb(\d) I= size_c(Va)\n", rb, size_m ), exit(l); )

"} t1¢ DEC_TO_IEEE

float_dec_to_leee( (fdata->m)+ptr, fdata=>num_fuzzy ),
tendif

ptr += fdata->num_fuzzy; leng++;

if( lseek( fd, offsetl, 1 ) < 0 ) ( printf( “can't lseekl\n" ), exit(l); )

1
close( f4d )

fdata->length = leng;

alloc_fibuf( longest, states )
int longest, states;
i

int i,

char *malloc( ).

for{ 1 = 0, i < states; i++ )
{

Alpha(i] = (int*)malloc( (longest+l) * sizeof(int) ).
if( Alpha{i]) == NULL ) [ printf( “can‘'t allocate Alpha\n* ); exit(l); }

.} €al_([rame_prob( )
(

register Entry ‘cps
register i, num;
aum = 0,

for{ i = 0; i ¢ HASHSIZE. i++ )

{
for( ep = EntryTable[i}.; ep != NULL; ep * ep->next )
{

/* print{( “HMM(Ys)\p", ep-dphone ); */
cal_frame_prob0{ ep->model ),
num+~;
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tit o
printf( “"num model= \d nume ld\n", num_model, mw };
fendif

if{ oum != pum_model )
{
printf{ “AHO !\n" );

fprintf( stderr, “AHO I\n" );
exit{l);

4| cal_frame_prob0{ hmm )
IMHNM *hmn;

register i, 3,

for{ 1 = 0; { ¢ hmm->num_omatrix; i++ )
for( j =-0; §J< Fdata[0).length; J++ )

|
J
)
|

{ hmm->frase_prob[i} + J )= cal_ tu 2y({ hmm, £, J

tdefine DEBUG ]

cal_fuzzy( hmm, index, time )
IMHMM  *homw;
int index, time;

)

{
register i, 3;
int ptr, code, outp, tx, px_int;
float px, m;
'”"E' double log{ ), rint{ ),
>
216 outp = 0,
—$17]
__g_:_g_ for( 1 = 0; i < hmm=>num_book; i++ }
219 | {
520 | tx = Fdata[i].num_fuzzy * time;
521 code = (int)v{ Fdata{i}.code + tx );
S22 | m e *f PFdata(i).m + tx );
5231
| S247 11¢ pesuc
525 | printf( "code[t=13d)[book=td])[td])= 103a m= 16.4f\0",
—_526 time, i+l, 1, code, m ),
S277} 1enait
528
_g%g_ Ptr = hmm->num_vector(i] * index + cedes
:g‘_;: px = hmm-doutput_prob{i) [ptr) * m;
:E:g’::: for( j = 1; 3 ¢ Fdatali].num_fuszy; §++ )
{
5351 code » (int)*( Fdata(i).code + tx + 3§ );
5361 m = <«( Fdata(i).m+ tx + 3§ );
537} 11t pesuG
— 53§ printf({ "code(t=13d)[book=td][\d)= 103d m= 16.4f\n",
539 | time, i+1, j+1, codo, m )
40 | tenait
5 ptr = hmm->pum_vector[i) * index + code;
242
': PX += hmm->output_prob(i)(ptr) * m;
29 ‘___
535 ] if{ px 1= 0.0
546} px_int = (int)rint( logx(Lgtbl.b, (double)px) );
247 | else
__548 | px_int = MIN_INT;
__549 |
__2_5'(')_ outp += px_int;
552 |
S53 | #if DEDUG
354 Printf( “outp= \d\n", outp ); fflush(stdout),
5551 #enair
::S'_g_' 1f( outp ¢ MIN_INT ) outp = MIN_INT;
55971 return{ outp );
S60

~1
-3
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LINE # SOURCE TEXT

1_| tdetine LOG_MAIN
3.1 tinclude <stdio.h>

4 | 4include “config.h*
Jinclude *log.h*

77 read_logtbl( fname )

o char *fname;
{
0 int td, rbl;
| .
ra fd = open( fname, 0 );
: if( fd == -1 ) { printf( “can‘t open ts\n*, fname ); exit(l); }
5 rbl = read( fd, &{(Lgtbl.b), sizeof{double) ),
3 rbl = read{ fd, &{{Lgtbl.size), sizeof(int) ).

11f DEC_TO_IEEE

double_d_dcc_to_feee(s(Lgtbl.b), 1);
long_dec_to_ieee(t(Lgtbl.size), 1)/

tenait

I

5 Lgtbl.table = (int*)malloc( Lgtbl.size * sizeof(int} ).

if{ Lgtbl.table == NULL }{ printf( “can't allocate logtable\n" }; exit(l); }

28] bl = read{ fa, Lgtbl,table, (Lgtbl.size)*sizeof(int) ),
%_ if{ rbl != (Lgtbl.size)*sizeof(int) )
t

printf{ “can‘'t read s { read(id) t!= sfze(td} )\n",

32 ] fname, rbl/sizcof(int}, Lgtbl.size ),
exit(l),;

!

14f DEC_TO_IEEE
long_dec_to_ieee(Lgtbl.table, Lgtbl.size);
tendif

close{fd ).

addlog({ x, Y )
int X, ¥i
{

int n;

it o
printf( “x= Vd\n", x },
printf( “y= td\n", y ),
fflush(stdout);

tendif

it x>y
{

n=XxX-y

Ht O
printf{ “p=id\n“, n );
£1lush(stdout},

{enaif
£f( n >= Lgthl.size ) return{ x );
return{ x + Lgtbl.table[n) );

else

} return{ y ).
return{ y + Lgtbl.table(n) ).
t

78
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SOURCE TEXT

B

&
i

(-0

W W W,
2

;..Asl

O‘\D!@ \l!m \"i

V}! 'hlmn IS

tinclude “imhwmm.h*
tinclude “log.h"

read_imhmml( file, floor, pho )
char~ *file,

double floor( ).

IMIMM  sphm;

{

FILE *fp, *fopen( ).

int num, mat_num, from, to, disp;

int nmat, nstat, ninit, nfin, narc;

double log{ ), rint( ), outp(MAX_ALPHABET), trans_prob, x;
int nbook, csize[MAX_CODEBOOK),

char *malloc{ ), dumuyl'l'll;

register e<stop, *cptr;
ragister i, j, k, s;
struct transition *tptr;

fp = fopen( tile, "r* );
if( fp == NULL ) ( priantf{ “can't open is\n", file }),; exit(l), }

tscanf( fp, “"\s \d*, dummy, ¢nbook );
if( nbook > MAX_CODEBOOK )

{
printf{ "nbook{td) > MAX_CODEBOOK(1d)\n", nbook, MAX_CODEBOOX )
exit(l);

)
fscanf({ fp, "\s \d*, dummy, snmat );

for( i = 0; i & nbook; i++ )
{
tscanf( fp, "\s \a"
7 rintf( "noat=

tesize(i) ).

dupmy,
iz

size(i)!
[ Joutput_prob{ ymal c(aizeo (float)
if( phm-d>output_prob[i) == NULL )

{ printf( “can't allocate ham outprob\n" ); exit{l).; }
for{ J = 0; j < nmat; j++ )

at * csize(i)),

{
Aisp = § * csize(i]); x = 0.0,
tor( k = 0; k < csize(i]; k++ )
{

fscanf( fp, "\le®, toutp(k] ).
if( outplk) < floor(4i) ) outp{k) = floor(i):
x += outp{k];

}
for{ X = 0; k & csizefdi); k++ )
*(phm=>output_prob[i}+disp+k) = (float)( outp(k} / x ).
1
}

fscanf( fp, “\d“, tnstat );
if( nstat > MAX_STATES )
{ printf( “states(id) 5> MAX_STATES(Md)\p", nstat, MAX_STATES ), exit(l); }
pho->states = (struct state *)malloc( sizeof(struct state) * nstat ),
if({ phm->states == NULL )
{ printf( “"can’'t asllocate hmm_states\n" ); exit(l):}
for( i = 0; i ¢ nstat; i++ )
(

phm->states(i).label = i;

pho->states(i).oun_froo = 0;

pho-2>states(i).oum_to = 0;

phm->states{i).is_ ioitial = phz->states(i}.is_final = 0;
)

fscanf( fp, "td*, éninit ),
for( 1 = 0; 1 ¢ pinit; 4i++ )
{

fscanf( fp, “%d", spum ),
phr->states(num).is_initial = 1,
1

fscanf( fp, “Md“, infin ),
for( L = 0, 1 < nfin; i++ )
{

fscanf( fp, "%d", toum );
phm=>states[num}.is_final = 1,
!

fscanf( fp., “\d“", &narc ),
if( narc > MAX_ARCS )
{ printf( "urcsud) > MAX_ARCS(%d)\n", narc, MAX_ARCS ); exit(l); |
phm=->transitions =
{struct transition *)malloc( sizeof (struct transition) * narc );
if( phm->transitions =s NULL )
{ printf( “can't allocate hmn_transitions\n" ); exit(l);}
for( i = 0; i ¢ narc; i++ )
i
fscanf( fp, “\d td \le \d", tfrom, stto, &trans_prob, imat_num ),

'lt( trans_prob != 0.0

phm->transitions(i].trans_prob = (int)rint( logx(Lgtbl.b,trans_prob) ):
else

plun-)tzansit.ious(il.umu_prob = MIN_INT;

phr->transitions(i).origin = from,
phm->transitions(i).destination = to,
pho->transitions[i).out_prob_index = mat_num;

pha-istates{irom).trans_from(phm->states(from).nuwn_frome+) = i,
pho->states{to).trans_to{phm-)>states[to]).nwn_to++] = i,
)

fclose( tp ).

phm->num_owatrix = nmat,
phm->num_states = nstat;
phm=->num_initial = ninit;
phm=>num_rinal = ntin;
phm=>num_arcs * narc.
phm=>num_book = nbook;

for{ { = 0, i < nbook; i-- ) phu->num_vector(i] = csize(il];
for{ s = ¢, s { phm->num_states; s=-- )
pho->states{s]).rarc = NO_ROOP;
stop * ( phm->states[s].trans_to[phm->states(s).num_to] ),
for( cptr = &( phr->states(s]. trans to[0] ), ecptr < ..top. cptr++ )

tptr = L(phm->transitions[+cptr}).
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SOURCE PROGRAM DATE 2721792 | Pace=

io_mhmm.c TIME  11:43:20 am

st

LINE & SOURCE TEXT
121 if({ (tptr-dorigin »e s) it (tptr->trans_prob 1= MIN_INT) )
122 ] { phm->states(s).rarc = *cptr; break; )

an
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SOURCE PROCRAM DATE 2721792 PAGE #»
idur.c TME  11:42:57 am |’

SOURCE TEXT

tinclude “imhumm, h*

I ~|_

_| tinclude "idur.h"
|37} 1include “log.h"
q
S'| tdefine MIN_MABA 1.0
?_ {define MIN_SD 0.15
8| extern double Nsd;
9
0 | read_idur( dur_file, sigwa_wodel, sigms_state, dur )
[I_| chax *dur_file;
2 | double sigma_model, sigma_state,
IDUR *dur;
441 .
int i, j, max, ptr, dummy, st, num, devoc_flg:
char buf{87],
7 FILE *fp, *fopen( )
81 double rint{ ), exp( ), log{ ), mean, sd, var, x, haba;
9 char *malloc( ):
] fp = fopen( dux_file, “x" );
4§_ if( fp == NULL ) { printf( "can't open \s\n", dur_file ); exit(l); )
£
24 while( 1)
251
26 st = read_linef( fp, buf, 37 ),
27| if( st == EOF ) { printf{ "can't rcad t\s\n", dur_file ); exit(l); )
28 | if{ 1strcmp( buf,"t" ) ) break;
29 | }
0
I | st = read_linef( fp., buf, 87 );
32| sscanf( buf, *"sd \d Mle \lo”,
g_L s(dur=>lenmin), &(dur->lenmax), &(dur->lenav), &(dur->lensd} );
4 .
g_ 1£( dur->lensd != FLAT )
36 {
§_': if( dur->lensd < MIN_SD ) dur->lensd = MIN_SD,
3 dur-dlenmin2 = (int)rint( dur->lenav - sigma_podel*(dur->lensd) ):
4 if( dur->lenmin2 < 0 ) dur->lenmin2 = 0.
4 dur->lenmax2 = (int)rint( dur->lenav + sigma_model<(dur->lensd) ),
4
/5 h»\ 43| dur-)lenprob= (int*)malloc( (dur->lenmax2+l) * sizeof{int) );
44 if( dur->lenprob == NULL )
éz { printf( "can't allocate lenprob\n" ), exit(l); }
4
%7 mean = dur->lenav;
Ag var s (dur->lensd) * (dur->lensd);
]
50| for( i = 0; i <= Aur->lemnmax2; i++ )
S ]
52 ] x @ (=1.0) * ((Gouble)i-mean) * ((double)i-mean) / ( 2.0 * var );
c3 X = exp( X );
54 if( x > 0.0}
56 | dur->lenprob{i) = (int)rint( logx( Lgtbl.b, x ) ).
56| else
7] dur->lenprob(i]) = MIN_INT;
S8’ }
591 )
60! else
{

dur->leonin2 = dur->lenmin;
dur->lenmax2 = dur->lenmax;

dur->lenprobe= (int*)malloc{ (dur->lenmax2+l) * sizeof(int) ).
1f( dur->lenprob == NULL )
{ printf( "can’'t allocate lenprob\n" ), exit(l). )

for{ 1 = 0; i < dur-dlenmin2; i++ ) dur->lenprob[i]) = MIN_INT;
for{ i = dur->lenmin2; i <= dur->lenmax2; i++ ) dur->lenprobl[i} = 0,
H

st » read_linef({ fp, buf, 87 ),
sscapf( buf, "sd*, t(dur->states) ),

for{ 4 = 0; { < dur->states; i++ )
{

st = read_linef( fp, buf, &7 };
devoc_f1lg = 0;
sscanf( buf, "%d tle tle td~, tnum, tmean, &sd, &sdevoc_f{lg ):

sd *= Nsd,
if( sd@ ¢ MIN_SD ) sd = MIN_SD;

if( Qur->lensd != FLAT )
{

haba = sigma_state * sd;
if( haba < MIN_HABA ) haba = MIK_HABA;
aur=->durmin(i] = (int)rint( mean - haha );
if( dur->durmin[i] < 0 ) Qur->durminfi] = 0,
dur->durmax{i]) = (int)rint( mecan + haba ).

1

else

{

dur->durmin(i] = dur->lenmin - 1;
dur->durmax(i] = dur->lenwmax - 1;

)

dur->durprob|i] = (int*)malloc( (cdur->durmax(i)+1l) * sizecot(int) );
if( Qur->durprob(i| == NULL )
{ printf( “can‘'t allocate dur\n" ); exit(l); )

var = sd * sd;
for( § = 0; j <= Qur->durmax[i]; j=+ )
4

if( dur->lensd t!= FLAT )
{

x = (=1.0) * ((couble)j-mean) * ((double)j-mean) S { 2.0 ¢ var );
X = exp( X )
if( x > 0.0 )
dur=->durprob[illj) = (int)rint( logx( Lgthl.b., x ) )/
else
dur->Qurprob[i](§} = MIN_INT;

}
else dur->durprob(i]l(i] = 0;
e o
printf( "x=te log(x)=tdyn", X, dur- durprob{ilij] }.
tendif
|
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PACE #

e . PTE

TIME  11:42:57 am

SOURCE TEXT

‘prin€f( *DEVOC: ‘\s\in®,::dur, fi1¢ )" £€lush(stdout);

Qur=>lenmin = 0,
dur=->durmin(i) = 0,

Qur->durprob(i](0) = 0;
]
]
fclose( (p );
1371 pov_idur( dur, weight )
8_| 1oUR *dur;
39 | double weight,
130
4 int i, 3., ptr;
4 double pow( ), rint( ).
r
44 for( L = 0; 1 (= dur->lenmax2; i++
45 dur->lenprobfi) = (int)rint( (double)(dux->lenprobl(i)) * weight ),
4
:jfgj for( 1 = 0; 1 ¢ Aur->states; i++ )
4
3 1f({ AQur->durmax[i) == 0 ) continue,
5 for( j = 0; j <= dur->durmax{i}; j++ )
S dur->durprob(i}(j) = (int)rint( (double)(dur->durprob(i}(j}) * weight ),
5L ] ]
1S,
4
i
156 ]
[—1577] print_idur( dur )
58 ] IDUR ~ *dur;
159 1 ¢
100 ] int s, 3,
6!
1621 printf( "i\n" );
163§ printf( “13d 13d te te\n", dur->lenmin, dur->lenmsx,
EISS dur->lenav, dur->lensd ),
771661  printf( “\3d\n", dur->statas );
167 fflush(stdout);
_____gg: for( s = 0; s ¢ dur->statos; s++ )
109 ]
170 printf( *\Id\n", s );
____;_I_ for( j = dur->durmin(s}; J <= dur->durmax(s); j++ )
1l ] {
173 ] printf{ "%3¢ \lld\n", j, dur->durprob(s])(j] ).
‘;g fflush(stdout);
176 }
177 priotf¢ “s\n" ).
178 fflush(stdout);
_ 1791}
180 |
1
— 1821 read_linef( fp, buf, size )
3 | FILE ~fp;
4 | char *buf;
int size;
186} {
871 int i, ks
|__188] char c;
189 |
|___190 | for{ i = 0; i < size; i++ ) buf(i) = 0x00;
}
19271 x = o0;
3 for{ i = 0; ; i++ )
194 {
1951 c = (char)getc( fp ).
6_| if{ ¢ »= (char)EOF ) return( (int)EOF ),
7] if( c == Ox0a ) break;
198 | k++;
199 | if( X > size ) return( -2 );
—200 buf(i] = c:

)
Tiatf(. “vs \n", bufi);

|~ return( k );
}




SOURCE PROCRAM
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S
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o It e}

“1include <stdio.h>
$include <sys/file.h>
#include <signal.h>

3

37
___33jtit o
34
S| tdefine  MAX_D_BUF 16384
‘?‘ char d_buffer[MAX_D_BUF];
8 | main(argce,argv)
397} int arge;
40 | char cargvi);

(
int fpoi;
int get_sigfpe(),
signal(SIGFPE,get_sigfpe),
if (arge <= 1) usage():
if (vargv(l) != °*°-*) usage().,

switeh( ¢( argv[l) + 1)) {

case ‘d':
break;
case 'g’:
break;
case 'f':
break;
case ‘s':
break;
case ‘1°':
break:
default :
usage( ),
break;

]
if ( argc == 2 ) cnv_stdinout(*(argv[l]+1l));
if ( arge > 2 ) |
for ( fpol = 2, fpoi < argc ; fpoi++) {
cov_file(~(argv(L]+1l),argvitpoil):
}

}
get sigfpe(sig,code, scp,srp)

sig,code;
struct sigcontext *scp;
struct sigregs srp;

(

fprintf(stderr,“Signal SIGFPE code=td!!\n",code);
exit(-1):

!

cnv_stdinout(type)
char type;
(
int count; /* read char count */
while((count = read(0, d_buffer, MAX_D_BUF)) > 0 ) [
switch( type ) |
case ‘d’:
double_d_dec_to_ieee(d_buffer,count/8).
break,
case 'g':
double_g_dec_to_ieee{d_buffer,count/8);
braar;
case ‘f':
float_dec_to_ieee(d_buffer,count/4);
break;
case *s':
short_clec_to_ieee(d_buffer,count/2);
brear;
case '1':
long_dec_to_ieee(d_buffer,count/4);
break;
default :
usage()s
break;

1
write(l.,d_bulfer,count),;
)

t
cnv_tile(type,file_name)
i char type,*filc_name,
{

int f£d,pos,count,

if ((f{d=open(file_name,0_RD#lt)} 3= 0) {

while ((count = read(fd, _butfer, MAX_D Bur)) > 0 ) {
switeh({ type ) {

owmjdqn  — OO~
10,0, W, (RN

case ‘'d’:
- double_d_dec_to_jeec(d_duffer,count L),
break .
case 'g':
= daouble_g_dec_to_icee(d_buflfer,counts &),
break.,
case 'f’:
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float_dec_to_ieee(d_buffer,count/4};

break;
case *s':
short_dec_to_ieee(d_huffer,count/2);
break;
case '1':
long_dec_to_icee({d_buffer,count/4);
break;
default :
usage():
break;
}
pos=lseek({fd,—count,L_INCR).
write(fd,d_buffer,count),
}
closa(fd),
1
else porror(file_name);
1
usage()
{
(priutt(ntﬂerz,'\n Usage of DEC to IEEE format converter\n®};
fprintf(stderr,” dtol ~(dgfls) file [file file filel\n");
fprintf(stdorr,” dtoi -{dgfls] <file >file\n")s
exit(),

1
fendif

). double_d_dec_to_ieec(buffer,count)

_, union all_mighty {(
doul

ble fval;
unsigned int ival(2);
char cv(8],
}
*buffer;
int count;
union all wighty buf;
char work;
int ent,cntl;
int iwork(2},jwork, jworkl;

for{ cnt = 0 ; cnt < count ; cnt++ ) {
buf.ival(0) = buffer{cnt).ival(0],;
buf.ival(l] = buffer{cnt).ival(l]),

work = buf.cv(0];
buf.cv(0) = buf.ev[1];
buf.cv(l] = work;
work = buf.cv(2],
buf.cv(2) = butf.cv(d],
buf.cv(3) = work,
work = buf.cv(4);
buf.cv(4) = buf.cv{S);
buf.cv(5) = work;
work = buf.cv[6]);
buf.cv(6) = buf.cv(?),;
buf.cv{?) = work,

{0) ( (o} 44
!or( cntl = 0 ; cnu <3 ; cntles )

Jwork = ( buf.ival(0] & 0x00000001 ),

buf.ival(0)>>=l;

Jworkl = ( buf.ival(l} ¢ 0x00000001 ).

buf.ival(l)>)=1,

if ( jwork > 0 ) buf.ival[l) |= 0x80000000;

l
1! (Jworkl > 0) buf.ivalfl) +- 0x00000001 ;
e Sotiex|

huuoxlcnt) ivn1|o] T but ivalf(
buffor(cat).ivalfl] = buf,.fival[l);

float_dec_to_icec(buffer,count)

union . all _myghty {
float (fval;

int ival;

char cvi4),

*huffer;

int count;
chax work.;
int cot;

Jvseessaiveracannnnae

for{ cnt = 0 ; cnt < count ; cnt++ )
work = buffer(cnt].cv([0];
hutfer(ecat).cv(0] = buffer(ent}.cvil};
buffer(cnt).cv[1l] = work.
work = buffer[cnt].cv[2].
buffor(cat}.cv(2] = bufter(cnt).cv(3}:
bhuffer(cat}.cv({3] = work,

NI Swap byte evtevscsedinvristeivrraiies/

7
0xJ7e00000 ) b 0x7!!(tt!t) | ((bufferfcnt].ivall[0] & 0x800000)<<8 )),
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3

A L

TEF L -

SOURCE TEXT

242
43
4 '
245 1 )
:'_‘,‘7'.
24
288
249 |
250
2
£
double_g_dec_to_ieee(buffer,count)
255 | union all_myghty [
256 ] dauble fval,
257 int ival{2],
258 char  cv(8):
2591 )
_%_6%_ sbutfer;
__g_ §_ int count;
2631
264 char work;
2 2: int
266 | .
267 P4 b
— 268 for( ént =70y eat <count ; cnt++ ) [
69_| work = buffer{cnt).cv(O0);
70 buffer{cnt).cv[0) = buffer{cnt]).cv(l];
71 buffer{cnt).cv(l]) = work;
__272 ] work = buffer(ent).cv(2]:
273 buffer(cot).cv(2) = buffer{cnt).cv(3];
274 bufferfcnt).cv(3) = work;
275 work = buffer(cnt).cv(4);
__27_5: buffer(cnt).cv(4) = buffer(cnt].cv{5),
277 ] buffer(cnt].cv[S) = work;
278 work = buffer(cnt).cv([6];
279 buffer(ent).cv(6) = buffer(ent).cv(7?);
&5V buffer(cnt).cv(7] = work;
huffer[cnt).fval = buffericnt).fval / 4;
—585" )
—5
|

2927} long_dec_to_icce(buffer,count}

93 | union all_myghty {
__294 long ival;
295 | char cv(4);
29611
297 | *butter;
298 |
299 | int count;
300 ] {
_g% ;_ char work ;
302 | c
303 ] ;
__304 for{ cnt = 0 ; cnt ¢ count ;
3 0:5_ work = buffer(cot).cv({0];
——.06: buffericnt].cv(0] = buffer(cnt}i.cv(3),
07’ buffer{cnt].cv(3] = work;
308 work = buffer[cnt).cv(l]);
—309” butfer{cnt).cv(l] = buffer(cnt].cv(2);
_,_;_ 0 buffer(cnt).cv(2] = work;
1

321

329 1 int
3 {
3

short
char

AN
7] “buttor;

cher
int

Jeevraces

short_dec_to_ieee(buffer,count)
unfon all_myghty {

ival;
cv(2];

count;

work;
cnt;

Areersnes swapibyte wesssecvroscscavneioisacs,

for( cnt = 0 ; cnt ¢ count ; ent++ ) {’

work = buffer[cnt).cv{0);
buffer[cnt).cv(0) = bulfer(cnt].cv(l];
buffer(cnt].cv(l] = work,
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N
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1
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l

tinclude "contig.h”
tinclude "{imluxa.h”
{include “log.h"

adapt_houa( hmm, book, floor, top, hist, code )
IMHVM * hmm ;

int book, top, *code;

double floor;

float *hist,

register i, j, k;
int ptr, voc;
float pXx, buf(MAX_ALPHADET), sum;

for( L = 0; i < hnw-dnum_omatrix; i++ )
{
ptr = hma=>nuw_voctor|book) * i,

swn = 0,0,
for{ j = 0; j < hmm=dnum_vector(book}; j++ )
I

vec = code(top*i);
px = hum-doutput_problbook] (ptrtvee] * hist{top+]),

for{ x = 1; X < top; k++ )
{

vac = code[top*j+k];
pxX += hmm-doutput_prob{book] [ptr+vec) * hist[top*j+k],
1

1¢( px > (float}floor ) buf(j} =
olse buf(j} =

px:
floor;

sum += but[j),;

}
it o

printf{( “swo= te\n", sum ); fflush({stdout);

fenaif

for( 3 = 0; j < hmm=->num_vector(book}; j++ )
fum=)output_prob[book ] (ptr+3j) = buf()] / sum;

get_hist( fn, top, size, hist, code )
char ~fa;

int top, size;

int +=code;

float <*»hist;

float *histo;

read_hist( fn, sizo, thisto ).

e o

for{ { = 0; 1 < 5; i++ )
for( 3 = 0; 3 ¢ size; j++ )
printf( "hist(V3A][V3a)= sC\n*, i, J, *(histO+it+jesize) ),

tendit

sort_hist( hist0, size, top, hist, code ).
free( histo );

read_hist( (n, size, hist )
char *tn;

int size;

float <*<*hist;

int rbl, rb2, fd;
float *buf;
char *walloc( ):

fa = opon{ tn, 0 );
if¢ €@ ¢ 0 )[ printf( “can't open \s\n", fn ), exit(l); }

bl = size * size * sizecof(float):

buf = (float*)malloc{ rbl ).
1f¢{ buf == NULL ) [ printf( “can't allocate histbuf\n" }); exit(l},

rb2 = read( fd, buf, rhl );
fe( by t= b2 )
(
printf{ “read_hist: corror rbl(td) != rb2(id)is\n", rbl, rb2, (n );
exit(ly,
'

close{ fd ),

tif DEC_TO_IEEE

float_dec_to_leec( buf, rbl/sizeof{float) ),

1 tenair

*hist = nmutl;

tdefine DEBUC o

sort_hist{ hist0, size, top, hist, codc }

4| floal “hist0, --hist;

int size, top., **code;

int i, J, ptrl, ptr2;
float “histbut, sum;
int *codehul;

char *malloct ):

histbuf = (float*)malloc( size * top * sizeof(float) );
if( histhurf == NULL ) { printf( “can‘t allocate histbuf\n* }; exit(l),

codebutl = (int*)malloc{ size * top * sizeof{int) ),
1t( coclebuf =e NULL ) { printf( "can't allocate codebuf\n“ ); exit(l);

/evriee sorting sesvees/

for( § = 0, i ¢ size; i+~ )

)
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ptrl = { * top,s
for{ j = 0; j < top; j++ ) histbuf(ptri+j] = -10000.0;

(?r( 3= 0, J < sizo; 34+ )
ptr2 = j * size + i;
sort_large( top, histbuf+ptrl, codebuf+ptrl, histO(ptr2), j ),
)
sum = 0,0,
54 for( j = 0; J ¢ top; J++ )
135 {
__gg: if( histbuf(ptrl+j) < 0.0 )
138 ] printf( “hist(13d)[V3d)= \f ¢ 0.0\n",
3 i, codebuf[ptrl+j), histbuf(ptrl+j) ).
4 exit(l),;
%
482 | sum += histbuf[ptrl+j};
43
44
r; 1€¢ sun = 0.0 )
4 {
4;‘ for{ j = 0; 3 ¢ top; J++ )
4
| 149 | histbuf{ptrl+j) /= sum;
50| 1if pEBUG
1| printf{ “hist{13d](%v)d)= Vf\n", i, codebuf(ptrl+j}, histbut{ptrl+j) ),
__152_| tendait
: )
S | 1if DEBUG
> printf( "\n" );
157} tenait
158 |
1595 )
161§ vhist = histbuf;
162 *code = codebuf;
163 1)
64
S
166] sort_large( top_num, val, cod, val_in, cod_in )
1671 int top_num, cod{ ), cod_in;
168 | float valf ), val_in;
169 1 {
_:;_n_ int 1, k;
1721 x = top_pum + L,
7 for{ i = 0, i < top_num; i++ )
;‘ if¢ val_in > val[i) ) { k = i; break; )
176 if¢ X < top_num )
177 -
_:;_B_, for{ i = top_num-1; i > k; i-- )
— 2 {
180 val(i) = val(i-l);
g cod(i) = cod(i-1];
—1.8: )
__18 val(k] = val_in;
184 ! cod{k] = cod_in;
85
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